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I AT ST Ta JeNRa U9 ik 19 5 = I <.

forgre S ST Uaaiaer=a §3d Jai- foaRyae g€ A6, Wiy armeiel Iy

o AT} ST i ST A AR e e WA gwel. ST [
9 fowe A quaeia SeiyaEet foaqmmen aweamre Ted SITEta gear hell. W FdsHs
e T A THENIE, i, EieRumre a1 faeemaider Wi YRt QeAEet 9T
FHEA AU Ygd fadiadt sfues wfedt fresern 3d & wymT Sraeq foe.
T ST fafed € e Sfee A, WY Tagudere M § I ST1; v [ v Faw
TAGRY R, W QAN S SIagdie Yos Sl HRIGRUNE A IgdH favaa- e e
YR T HT0 § TAEAS Fad A, A9 Th G IS0 TS ARSIER Se@ren fgara.  fad
& <aM-3xM-foe fassq el o161 99 31, 1 =R WU argAariel qdl, Hhoe ™eR &l
forvama Samern; st sTeRHv Fearn Sias qiers ARl 36 qafauia seemes fay W o felt
39 foq@ 30, =1 Wi YU SUesd 9l AR, Taqaeral §8 W HRGRUSEER IR

AT ST forier 8% TFTer oM. Shisiet fTeTdisTiel W1, 39 Biet § W g&7 faliue onea.
Ay ST IS W AR HeY Hewrdl R, WA A1 faameond ey JUaw (Contextual
Archaeology) 3 7d Usd 3.

el I JUAER AT 06 Tl 3TRd.  WHaTe snfdes, arfere aRkfeerdt=n st ® Ada
o Frear Y FaAER= SEa wE faOR sied STaed, AT SR STl GF ST, hia™ma
YT A GU e STHUATE! MRl 1.

Read the passage and answer the following questions from 1 to 5.

Later half of the twentieth century witnessed emergence of new trends in Archaeology. New
discoveries in physical sciences and their application in archaeology resulted in an inclination
towards sciences. American archaeologist Lewis Binford pioneered the use of the methodology of
Scientific Philosophy in archaeological research. While in England, David Clarke proved that the
New Archaeological method of using concepts from disciplines such as anthropology, geography

and environmental sciences in furnishing archaeological evidences can extract much more

information.
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New Archaeology can be termed as scientific archaeology. The main aim of the old school
archaeologists was to establish the chronology of human culture with the help of excavations.
New Archaeology considers this a mistake; as archaeology is not just about chronology. It considers
that it is the duty of the archaeologists to delve deep so as to establish with reliable evidence, the
cause and effect relationship behind every historical event. A simple example of this can be the
report of the Mohenjodaro excavation. There were seven successive layers of habitation before the
Indus civilisation finally perished. It was believed that the Aryans invaded India and destroyed
the Indus civilisation under the leadership of Indra, their chief deity. This was a Rigvedic evidence
of literary nature and how could it be completely relied upon ? There is no physical evidence of the
Aryan Invasion. It can be seen that the Indus civilisation died away because of climatic changes.
Scientific evidences conclusively proving this have been found. New Archaeology focuses on the
relationship between cause and effects.

New Archaeology has recently invited some criticism. Professor lan Hodder from the
Cambridge University is a major critic. According to him, it is not enough to depend only on
scientific evidences for an explanation of cultural changes, but the context of excavated remains is
very important for their proper interpretation. This ideology, has therefore been called as Contextual
Archaeology.

Now some Archaeologists have moved ahead of this ideology. Socio-economic conditions of
man have always been studied, and now a study of the mentalities of ancient humans is gaining
momentum. How did religion and philosophy emerge, what were the thoughts in the minds of
the ancient painters - such and other things are being studied. Archaeology in the twenty-first
century is indeed going to be very different.

1. Yo faum amm 9rg g faer
(a) FEATHA (oo AGHAR TUAER favard Saul ANy 3T,
(b) TR STEHA AT i e ST .
(c) TR Seerige ey Wl o fears e 31
it S
(1)  (a), (b), () T T A TR,
(2) (a) 3T (b) ¥ AT ST (c) T AT IR TR,
(3) (a) 3001 (b) 3T 3R, (c) I IR
(4) (a), (b) 3 () T FATH A 7RA.
Choose the correct option after carefully reading the sentences :
(a) It is unscientific to believe only the literary evidence from the Rigveda.
(b) There is no material evidence available of an Aryan Invasion.
(c) There are evidences proving that the Indus Civilisation ended as a result of climatic
changes.
Answer Options :
(1) (a), (b) and (c) all are correct.
(2) (a) and (b) are correct and (c) is their result.

(3) (a) and (b) are incorrect and (c) is correct.
(4) (a), (b) and (c) all are incorrect.
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2. SST @
(a) TH E () FEHRIIE
b) T forwe (i) FHIOR GRS
) <fgs (iii) STRfERmET TS
(d) -TEREE (iv) faamren aeemEt usd
i 3

@@ () (0
(1 @) Gv) @) @
2 @) @ @) (@)
@) @@ @ @ @)
@4 () @ @) (@)
Match the pairs :

(a) Ian Hodder (i) Relationship between Cause and Effects
(b) Lewis Binford (i) Contextual Archaeology
(c) David Clarke (ili) Interdisciplinary evidences

(d) New Archaeology (iv) Method of Scientific Philosophy
Answer Options :
@@ (b) () (d)
M G Gv) @) @
@) @Gv) @ (@) )
@) G @) @ (@)
4) @ (@) (@) @)

3. UHaEE vasdial JUat Gy 9 38T HRY
(1) Yol JUAERIE THhRA T 3T,
(2) FHEFROIE T AR AEE=l A S .
(3) 3T SR Fiears Hifdsw Qe Iqas AR
(4) WA gHarERn e, T afifedieds AACaRiETE! S ST YE el .
Archaeology in the twenty-first century will be very different because :
(1) Contextual Archaeology has been refuted. '
(2) Cause and Effect relationship has gained great importance in Archaeology.

(3) Material evidence of Aryan invasion is not available.

(4) The mentalities of ancient humans are also being studied along with their social and
economic conditions.
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HHyuid qUrdeTeT=AT W

(a) TEHIEl A HLAM Hae3 AT A SFaeie Teu Ar T,

(b) ScETE fHected SR €e B aRE F1 SHEH HUIEE] SeETE AR,
(c) STmaiyes AITSIKRIS 9Id e AT e,

(d) TFE! FEdtE TeAnRd fafed € e g@ S AR,

i I
(1) 9 (b) (2)  (a) 3T (b)
@) (o) 3 (d) @) (b), (o) 3 (d)

According to Contextual Archaeology :
(a) Itis not right to depend only on scientific evidences while studying a culture.

(b) It is necessary to understand the context of an excavated material for understanding
its function.

(c) Mohenjodaro was destroyed seven times because of the Aryans.

(d) The main aim of Archaeology is to record the chronology of human culture.
Answer Options :

(1)  Only (b) (2)  (a) and (b)

(3) (b) and (d) 4) (), (c) and (d)

Torare SiqehTe S0 JUAAToRI= &3 RI0Td1 Fol foaaRyaTg Siel ?

(a) YRS $e i sTafier! aqi=l 7 Feur el

(b) ey qRERaTen faiY 1% eArTe.

(c) T FHETAT FATIN =T ST Yeard die.

(d) Yaafaen & fagrmaren g suftn fafay wreren Seea auE Ave.

watdt s

(1) &9 (d) (2) (o) 3T (d)

@) (@) (b) 3 (c) @ (@) (o) S (d)

Which new ideology took roots in Archaeology in the second half of the twentieth century ?
(@) Opinions of English and American experts in Archaeology gained acceptance.
(b) There was resistance to Contextual Archaeology.

(c) Mentalities of the ancient humans began to be studied.

(d) Archaeology began using scientific methods and concepts of sciences.

Answer Options :

(1)  Only (d) (2)  (c) and (d)

(3) (@), (b)and (9) (4)  (a) (¢) and (d)
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YETel IAWT AT TE ST U9T Thdish 6 10 < 0¥ L.
2030 WeA 40 <Fh UIUT qEST

THIO ST ATETE! 9 el TS avar JRT ded 31Ty, s 3.9, 2030 wid 40 <5 qrvErsl
el TEUR AR, T S A1 T9E A€ ST TR B 3T 319 JAeS ¥ Wifael. 22 Wi &
SrTfeh St gate AREE A9 Toll fooelt 49 §9 2015 AL Sfde STt STEaTa Siel Fed Sorihe
T T UG A0 ST STuii= A ST I § T hel, 3T I 748 TNAY Thie U
T gufaE fvaren o S Suesd AL e waid Wt afiom e, R T wee ol 9
foraiar 2.

AT Aeea JHTA TR YEE A0 Sf0 SN g TR 9 USEHAt) USd o o TR
faeeior FOAME 3T 3. @ U TRVl A1tk gdteal fafedt 9 Faicierral Gl 1960 |iedt 1 IuaAs
e HH TEA 2000 WA 19 AT el S0 SR R IvareR Hign JHIONd 9 IEd 18
3TY STRATTA W2 3. URd, i, W&, e o ATeAe®l SRl 7 sEhra wroft sratar o &
TR 2 TR, |

3.9, 2050 Ta ST SIETIRTOR 55 TR Td SRUR ST HRU ged SarTyR, siferes e ffifd 3
UL ATREE! AMEdl qUITE AN 2. TEYHT0 ST 60 296 S ST SR HUd TARTOR
I 9 A IvarE] aTR Seed Sifde qogrEt AR 400 TR IEUR 3T 3T - ST

oY e ghTes Fged IRFE STaeied Teud e IRieionies ST i1 areda Higa o
fauaTe qTUaTe SUSSaR Te ST, 3TN SHITe 50 ok Tish Yl WITd TgaTd.  TTet 30 Toh el
ek HISUEd TRAM. 3.9, 2050 T o0 TSI k=l TehU WAl 6.3 S vdq aeel 361 gt
HAR S SR, T S T ST AR A FHOSS Wi 70 29 W §6 9 o
AN SACATIIS! STAvash 318, 3Tealed Sal A=l st v e | FIuaraet Qs
U Ry .
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Read the following passage and answer the Questions from 6 to 10 :

40% water shortage by 2030

The world is set to face a 40% shortfall in water supplies by 2030 due to urbanisation, pressures
of food production, population growth and the increasing demand from the manufacturing,
domestic and energy sector; said the United Nations. Ahead of World Water Day on March 22,
the UN released its World Water Report 2015 in New Delhi and stressed that the ‘water crisis was
one of governance and not of due to the lack of resource availability’. Even today, 748 million
people do not have access to improved and safe source of drinking water and the worst affected
are the poor, the disadvantaged and women.

In India, the report analysed, the groundwater or tube well revolution has largely contributed
to relieving poverty, but the increase in demand for irrigation has also caused severe groundwater
stress in areas such as southern and eastern Maharashtra and Rajasthan. In fac, the total number
of mechanized wells and tube wells rose from less than one million in 1960 to 19 million in 2000.
Groundwater stress is also a larger South Asia problem the report said. India, China, Pakistan,
Nepal and Bangladesh alone account for half the world’s total groundwater use, the report said.

“By 2050, global water demand is projected to increase by 55%, mainly due to growing
demands from manufacturing, thermal electricity generation and domestic use and the world will
have to produce 60 percent more food and the global water demand for industry is predicted to
increase by 400 percent,” said the report.

Increasing urbanisation is causing specific and often highly localised pressures on freshwater
resource availability, especially in drought-prone areas. More than 50% of people on the planet
now live in cities, with 30% of all city dwellers residing in slums. Urban dwellers are projected to
increase to a total of 6.3 billion by 2050. The growing population across urban and rural areas will
need 70 percent more energy and water is required to produce almost forms of it. The report
recommends a host of measures to limit water insecurity.

6. WIS IR T YHIT IvGeR Y€ a1l IS T&d el 37 2

(1) T Heg - o

(2) <fao onftr qd HeRE - o™

(3) USEYM - I

(4) WY - fo_R

Which of the following states suffered from severe groundwater stress ?
(1) Eastern Maharashtra - Gujarat

(2) South and Eastern Maharashtra - Rajasthan

(3) Rajasthan - Punjab

(4) Uttar Pradesh - Bihar
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7. 2030 THq QNS <& 40% WoaT=n geas] Fmiv gvard SRis[ SR TR ¢

(a) ST IUEATES! ATl (b) RS

(c) TR Wl (d) <rEEEn e
! HIVEI/ T Hesh geael i oA FRUTYE TR TR ?
(1) K (a) ST () (2) T (c) M (d)

(3) HH () (4) K (a), (b) IO (d)

The following are some of the factors responsible for 40% shortfall of water by 2030 :
(a) Pressure of food production (b) Urbanisation

(c) Development of water transport (d) Population growth

Which of the above factor/s is/are responsible for this shortfall ?

(1) Only (a) and (0 (2) Only (c) and (d)

(3) Only (9 (4) Only (), (b) and (d)

8. it wrvaTEl B SUTTSH THA dlhia e Wielt &t s,

(a) RS @ (b) TREE 3 el R ) fomn
FURT SR RV T ST TR ?

(1) T (a) ST (b) (2) R (b) S (c)

() W (o) 4) = Fd

The following are some of the group of pepole who do not have access to safe water :
(a) Poor people (b) Disadvantaged people () Women

Which of the above group of people is/are correct ?

(1)  Only (a) and (b) (2)  Only (b) and (c)

(3) Only (c) (4) Al the above
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9. WRACTah! HIVI /R HEh YIEAH ToRIe HGYd Fe¥Id fauar= qrodmer 31ed shiga aror gevamd
HIUTA I/ A SR 2

1) i fawm
() Senfirem
(3) dRd IRAH
(4) TR TR

Which of the following factor is/are responsible for highly localised pressure on freshwater
resources especially in drought prone areas ?

(1) Development of Agriculture
(2) Industrialization
(8) Increasing Urbanisation

(4) Migration of people

10. Gterish! v feaq s Safer e ?

1) 229 (2) 22 = @) 229 (4 534
Which of the following is the World Water Day ?

(1) 22" March (2) 22m April (3) 22nd May (4) 5t June
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RIS AT A ATeR SETRA U9 shwich 11 4 15 = a8 &
e ot
TARHET JE e RATH! &8 - JUI Sl BR THR T9R 37e. AhSeI= g 9 A 9Ra
O ST TR, 2035 A7 I YR ARG G Ael HRT THUR & A Teh ok gigel S 3T

TARHEITT STATH FHIA I ARG A (SHUTHR) 38 A, ARSI AT ST
HEAT, S ST TR A 19 Fuiaes Seshian STy Bl Ahaen gard S, I 9 TEi| aid
YT TR AT ST THETIET e S0 77 A1 e J&F formd 31,

wrRgEr deuld yfas faanda . A I 99 uRaE gfed & oRd. (i) JHar
SRS TN ST TR 3R, (id) ST SR TR STH0, A1 HA9R ThEe JSIa
Y F9A W A YAt g Ted SR (1, 2, 4, 8, ....) T FU § ARG TG AR SEA
(1,2,3,4,...) el g5 FEATEET @ 9 YeRY a0y gfad Sel led; GHRaS STRIY
amfoy faRe Ty,

ARHEI™ 96 Q9 YhRY THAE - Wiad (stock) 0T FaE (flow). @ehEEn dewta mfedan
TR HId TG SO ST, St SX &1 avi+1 YRamH e hedt 9. iehae fImumt 2021 1 813 Saelt
3. SITUMT ¥ WIfHeh WU SEads] 19 o Telel STeilak Y1l Tehd-Teha &l J5Ia1 %, ST,
IR, WA, AR Ahseds JH, fon ywm, Sqgiea Sifa 9 srgfea St asde
TR, Ui € SHES AhEE IS4l Y TRISTEES 9 A dRu STihRuarEt, SRy StEvard
SAIHHSA A HieTT=! 7ad .

R AhEEEl IS T S YRA WHRA TN SR Wd el Siehe Alhaei=I
IRUMHHRE ARHET YRUT § AhEC= henfauda JH, vfasrehreid feu, wmRul § Gy aiony aer
SMYIRA TR,

TS S HH F0 F AR THHOn HROT [0l 3. WSt Here <.

TS G Frishd QA Tafae @ Taht AhEe &I HH 8% .
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Read the following passage and answer the questions from 11 to 15 :

Population Growth
Population growth is a serious issue not only in India but all over the World. India is second
largest country after China. It is estimated by 2035 India is going to surpass China and becoming
number one, if population growth goes unchecked.

Demography is the science of population. It includes mortality, fertility and migration as
three decisive components of population growth. Its main concerns are the measurements and
discovery of uniformities in the basic processes of human birth, death, population movement and
population growth.

Prof. Melthus well known thinker on the issue of population suggested two basic postulates
(i) Food is necessary for the existence of man and (ii) Passion between the sexes is necessary.
According to him, population if goes unchecked increases in a geometric ratio (1, 2, 4, 8, ........ )
while the subsitence increases only in an arithmetic ratio (1, 2, 3, 4, ....... ). He advocated two
checks on population i.e. positive checks and preventive checks.

Population variables are of two kinds - stock and flow. The important source of information
is national censuses which is carried out in India after every ten years. Population enumeration is
due in 2021. This document is considered as primary which reflects on the trends of growth, rate
of fertility, rate of mortality, migration, rural - urban population, sex ratio, population of the
scheduled castes and scheduled tribes etc. Needless to say, it helps to the policy planners and
demographers to adopt appropriate policy measures to handle the population growth.

Taking into account the unchecked growth of the population the policy instituted by the
government of India to influence atleast one of the demographic components of population change.
Population policy seek to enhance the welfare of the society collectively. An effective population
policy rests upon knowledge about the demographic trends, its likely future course, and its causes
and consequences.

In short population policy promote small family norms, delayed marriage for girls, control
the spread of communicable diseases, reduce infant mortality rate, immunization programmes for
children etc.

All these measures, if implemented properly, will definitely bring down the growth of
population.
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11. 0 ST Sred STUUE g SPefey Bt ? 756301
(a) T IAFAE ARG (kinship) @ ST
(b) AFHEAEGE W Hfed! ST ST e 3.
(© % shra) Ao e,
(d) <HEE S I AREEA FIIBRA1 9 Fofas Hew HRUE Rd A stdey g
i I
(1) (a) 30T (c) TR () (o) o (d) SR
(3) (o) 3T (d) FTR (4)  (a) 3 (b) TR
What do you understand by reading the above passage ?
(a) Itis a discussion on kinship.
(b) It is brief discussion about the population growth.
(c) Itis a description of an ancient history.
(d) Got insight about three factors which are decisive to and for population growth.
Answer Options :
(1) (a) and (c) correct (2) (c) and (d) correct
(3) (b) and (d) correct (4) (a) and (b) correct
12, WA dedt drhaean @ FRuaEe! T Sivd/q STRR—ISA 0 STAEeT 318 ?

(a) SRTIISTT e (b)  TEAT ISR

(c) Heitea focifea foame™ Aiaed (d)  S_Ad 916
i I

(1) e (d) TR (2) T (a) SR

(3) T (c) SR 4 (b) 3 () TR

In order to control the population growth in India which of the following measure/s is/are
important ?

(a) Increase in infant mortality rate (b) Employment to men

(¢) To promote late marriages of the girls (d) To promote fertility rate
Answer Options : f

(1) Only (d) is correct (2) Only (a) is correct

(3) Only (c) is correct (4) (b) and (c) correct
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13. TRYTH RUTIIHUR AhGEA JaIo) S8 Hact TRl T Ashde TN Fed SEal.
(a) SAHIIOR (b) et () TOTRR d) A
it SN
(1) e (a) SRR (2) e (b) TUK
(3)  (b) 3 () TR (4) e (d) SRR
According to Malthus population if goes unchecked increase population in ratio.
(a) Arithmetic (by Geometric (c) Multiplicative (d) Zero

Answer Options :
(1) Only (a) correct (2) Only (b) correct

(3)  (b) and (c) correct (4) Only (d) correct

14. RATS AFHEA S0 efterdsh! ShIoe areid Weds <d ?
(1) Wfse= 3EAH
(2) SRFRER TefuT
(3) T HIS SHNHeS WIS Hepe= Hisie grell
(4) P TEH SRR
Indian population policy promote which of the following ?
(1) Women spirituality
(2) Ilegal abortions

(3) Large family size protects from social evils

(4) Small family size

AT KRS SIT/SPACE FOR ROUGH WORK
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15. QU SHUH Ay HF 1 e 2
(a) wHEE fofm yAO
(b) SHR
(c) TREEE Ao (Fia)
(d) T - I FeRIE RO AIHEEH

‘Q’ﬂf’t‘ﬂ' 3’1‘1:1‘ :
(1) K (a) TR (2) TR () TN
(3) W (d) IR (4) RIS |e a0

What we comprehend from the population census ?

(a) Sex ratio of the population

(b) Rate of fertility

(c) Mobility of the population

(d) People living in rural - urban area

Answer Options :

(1) Only (a) correct (2) Only (c) correct

(3) Only (d) correct (4) All the above correct

A AN AT Te SR U9 huleh 16 o 20 =i 3¢ .
WRATATS Teg fae saawen
Fidic! GaY eR AR TS hard ST Feild TR 18 afffeivl el o, hald Aaed a4
3TE. 3T JHR! GUhR! e g (F.F. ), Wid, STHA, SN M 34k A < e
IR, AL Helta raedmed) A T fasrem anfon faemor 37, #1 s9i e Heilg Tk T9R 8.
Tl fA9SH AR G 39 376 &, WESAr= Qafieh fedr sftn TehTeran Feior gvar stavas
AT 9 TEUIR S8R hald TR o S, T Tfie Ideeiiel SAeeR Tod ST T9H
Il WA, WEig fox sqeed= S SHH ISR WU Sl (4T iU el g A
A T Fa9eH e T aihReEl Saen iy o7t Tvy WeR Adfie faxig weiy giafvea
F. I, A Fiel T G ST sren Weiy faa sreedd fuias g S STavas R, 1 WU
(i) % T To TR feoiell s Qaraqu quf HuarEe] Rl Aeye |y Suee e, a9y,
MY T, T AeHa @l S0 IR AR, ST eeh SCehTeA TS ST gt e @nid aikgol
T T WA YR AT, WU e T IA0N I 0 STevas S i, St e o stfe
Teoria THRIST SrEeH ST Ihd (i) Teish TehRahe Ta forita WfUehtor 3Tame, RUNe Toieh SRS
feorelt =il wEamien quf wvam Guie SR, Tds TegaT! QEd i R STRRTEaN AfwR
JETST T Tl SHRUAT TG STETe VT (i) HEE THl=a FIHTEEHIA TeaNadiel HE s Sravardiat
HeReaTeA Toeh & THEHEd GHrved il STevds 3.

FooT SRTUTETS! ST/ SPACE FOR ROUGH WORK P.T.O.
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Read the following passage and answer the questions from 16 to 20 :

Federal Finance in India

Governments may be classified into unitary and federal depending upon the concentration
and distribution of power and the relation between the central and local authorities. Under the
unitary system, whole power of government is conferred by the constitution upon a single central
organ and local governments derive whatever authority they possess from this central organ. This
system of government is prevalent in the UK, France, Germany, Austria and most of the countries
of Asia. As against the unitary system, federal system provides for a distribution and division of
the individual states of which the federation is composed. The general principle of division of
power is such that affairs of common interest to the federation as a whole and thus requiring
uniformity of regulation are placed under the Central Government, while all local affairs are left to
the state governments. The two classic examples of federal system are the USA and Canada.
After Independence, India also opted for a federal system of government on the lines of the USA

and Canada.

The distribution of powers in countries adopting the federal system of government defines
the financial relations between the central and the state governments. However, there are some
special problems that have to be grappled within federal financial system. These are : (i) The
sources of revenue assigned to the centre and the states should be adequate to enable them to fulfil
the functions allotted to them. However, in modern states, it is frequently not possible to ensure
this and it is highly unlikely that the needs and resources of each government will be exactly
balanced. Therefore, it becomes necessary to evolve a mechanism of adjustments so that shortages
and surpluses are evened out; (ii) Each government should have independent financial authority,
i.e., each government should have separate sources of revenue, powers to levy taxes and borrow,
and to incur expenditure to carry out its functions effectively ; and (iii) A certain uniformity should

be ensured in all areas of the federation so that no preference is given to one state over the other as

regards payment of federal taxes.

AT RIAES S/SPACE FOR ROUGH WORK
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16. T IOl W ety form e el 3 ?
(1) 94TE.T 30 el B (2) FS f0T YR FRd
(3) J.UHETY,, FHAeT AT IR Tkl 4) FH., T, AT Sfor SAfeden
Which of the following countries have adopted a federal system of government finance ?

(1) USA and Canada only (2) Canada and India only
(3) USA, Canada and India only (4) UK, France, Germany and Austria

17. TEIA SR ATl FIwRE FHoam STeft ST :
(a) eI e Wad fai Wit s/,
(b) TAF FIHNAT WA HEe qYe ST
(c) T FHREE @A 3T,
(d) T IR TeHE™ $g 9 TF TWHRIT T9H 91T =,

it W ;
(1) (a) B (2 (a) 37O (b) Ferd
(3) (a), (b) 3T (c) TR (4) S gd

The present passage recommends this :

(a) Independent financial authority in a federal system

(b) Separate/Independent sources of revenue for each government

(c) Powers to levy taxes

(d) Equal disribution of federal revenue between central and state government
Answer Options :

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4) Al of the above

18. g 701 ToT TSR AT foiia Wiy SUAUR S HIoTdi/ HIord ?
(1) wEgaT= em (2) @t e
(3) <= (1) P (2) (4) SfuwRe e

What is/are a determinant/determinants of financial relations between the central and state
government ?

(1) Sources of revenue (2) Heads of expenditure
(3) Both the (1) and (2) (4) Distribution of powers

5T HIHEE AT/ SPACE FOR ROUGH WORK P.T.O.
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19. SIS AL

(1)
(2)
®)
(4)

wWY-1
THHE TEFER
g WHR
.., T

J U, HSl

@ (b)) () (d

(i) (@v) @ @

Match the following :

(a)
(b)
(©)

(d)

List - I
Unitary Government

Federal Government

UK, France

USA, Canada

Answer Options :

1)
@)
®)
@)

@ () (@ (@
i) @ @) (i
(v) () @ (@
@ @ @) ()
@) @) @ @

18

wy - 11

S, ST

she 1107 T TG 9o 91eq
Y T g THRHS higd

List - II
Germany, Austria
India

Division of power between Central and State
Governments

Whole power upon Central Government

HeAT HUMES M/ SPACE FOR ROUGH WORK
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oy fayF/faum siesa.

(a) T HAE g Y T WeanaHd faia day ffaa w@ =,
(b) T HFEN A W fa<ia gey ffea .

(c) Ut sgerEen &g oMo U wehr At facitar Hay ffi=a &,

(d) TE TR Faed i W qeite fasdia ey e #d.

qqrEt T :
(1) T (a) 3 (b) SR 2) HE (a) A (d) TR
(3) T (c) ST (d) TR 4) TH (c) WK

Identify the correct statement/statements.

(a) Federal system of government does not define the financial relations between the central
and state governments.

(b) Federal system of government defines the financial relations among the state
governments.

(c) Federal system of government defines the financial relations between the central and
the state governments.

d) Federal system of government defines the financial relations between the local
y 8
governments.

Answer Options :
(1) only (a) and (b) are correct (2) only (a) and (d) are correct

(3) only (c) and (d) are correct (4) only (c) is correct

o HEE I/ SPACE FOR ROUGH WORK P.T.O.
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I SART Tl TR SMTRA W97 shHleh 21 4 25 <t 3a% o
YSIT quiue

TR THEY foR[ geashig ol avivemed o, Yesh T (S= anenas form gewa o) ®
g1 faega geshia @i omea.  fa[a gahia 9 (Electromagnetic Waves) § faga o gehia (3eft) &1
e fosmong ga=n fowmoft yarfed #Xa oT9an.  aRamal (Frequency) & @01 disil (Wavelength) 8
forega geeia avive™ TuiEE SR me(specnum)mmwmm
TOT STHAME. A= IRATET 50 859 o w1 0= JRaIar 20 g9 o 20 fohell 359 oTqd.  wHH
3T,

Yfgsh qmst aRaiar 10 feh gds@ 3 300 PN gdsd st oY, T QETAUTE! (W)
Anaar 1 fm &858 1 300 fom w8 wfa o, yaniy aufgemsd anenfiast #afer 3x 101! @
3% 1016 TFH TqH! 3TEA. AW A (Infrared) TS (ultraviolet) T T THRIET FAUGTHE
TS STEA1. T YhTe! feRtun= aiaRal (Frequency) 4.3 x 10141 7.5 x 1014 859 3aeh! 3THd.  TohRIA
TS WA IRETR 3o edl L ARG, TEstt ol ael (Wavelength) =1 3eei@ Shefl Sl
T Ale Il HieX BN THbMED T ST 3R HISIUAHIS! hefl Sal.  JehTem=t aiil el S1faee
HAT ST, A A AN AR ThHhMed Hietelt S0, g¥9 Yo fohoni=t aim aist 7aier Tmged
400 1 700 FAMIE et 0.4 T 0.7 WIFFRHIE SaR! ST, ool TIAT YTl a1 Sisll HHl 3, T
A (Infrared) ToRT9 foRTom=n €I q&Iq: IO SHelia oEdl.  3W founuefions It Al
feRTuni=it TaIfeT ST,

oS YoTd YaTH LA, WRRIET 37 300,000,000 HeX Wii€ehs sae], WU 1,86,000 el Wiadehg
TAHT STHAL.  JhRTLET AT 1 AT WA TATH el e STaee STHal. R feaiell e 3 gaqed
Tehan frrafa drepcdiqa WamrHra o SR . ShT=i=A W WA SYamT WeRTamen a7 et 2.

T TRToNTed SmeTed] YRl 9ea hial Jal.  Firen weram Yo fentone sheiet fehan
fodhgiantor =3 4. e e 37, f5e (SraeTeReRr), geueei (Arspreng) enfor gl
(FATERT) TN FI I, TR GieeHen 1w 3 Wia) ) YA U1 SRRl A 8
e BT FRRIAONAT hIATGashTe 19l  TIad & JhIran go e R, Yehret ferton=
TohI S STog] FehT¥T Wehl HILTHIH ST HIEHIA Yo il deel 81, T offell, Saiiar Sifer ehrem=n &
AT CHART SeY SR, AT eAlell AT AR A THABIY A Yoy AT, GRS U i
ey gt A R A emed foey W,

AT KIS AT/ SPACE FOR ROUGH WORK
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Read the passage and answer the questions 21 to 25.
The Spectrum of Light

The light is kind of electromagnetic spectrum. Radio waves are electromagnetic in nature.
Any electromagnetic wave is made up of electric and magnetic fields that travel through space
from one place to another. The basic characteristics of the electromagnetic radiation are its frequency
and wavelength. To put light waves into perspective with lower radio and other frequencies. The
left end of the spectrum is very low frequency electrical signals such as AC power 50 Hz and audio
or sound frequencies in 20 Hz to 20 kHz range. These are the lower frequencies that have long
wavelengths. Higher up frequency scale to right is wide range of radio frequencies.

Radio frequencies range from 10 kHz to 300 GHz. Microwaves extends from 1 to 300 GHz.
Even further up the scale we find visible light. The frequency of Optical spectrum is in the range of
3% 10! to 3 x 10® Hz. This includes infrared and ultraviolet as well as visible parts of the spectrum.
The visible spectrum is 4.3 101 to 7.5x 1014 Hz. But we are rarely referred to the frequency of
light. Instead we state light in a distance measured in terms of the meters between peaks of wave.
Light waves are very short and are usually expressed in Nanometers or microns (one millionth of
a meter). Visible light is in the range of 400 to 700 nanometers (nm) or 0.4 to 0.7 micrometers (pm)
depending upon colour of light. Short wavelength light is violet and long wavelength light is red
colour respectively. Right below the visible light is region of infrared rays cannot be seen. The
source of most infrared is heat. Right above visible spectrum is ultraviolet range. Infrared and
ultraviolet are included in what we call as optical spectrum. Beyond that are
X-rays, gamma rays and cosmic rays.

Light travels in a straight line. Light rays emitted by a candle or a light bulb, move out in the
straight line in all directions. Light travels at the speed of 300,000,000 meter/second. i.e. 1,86,000
miles/s. The speed of the light depends upon the medium through which light passes. The above
speed of light is in the free space means light travelling in air or vacuum. When light travels through
glass medium its speed lowers.

Light can be manipulated in many ways. Lenses are widely used to focus, enlarge or to
decrease the size of the light waves from same source. Lenses permit useful devices such as cameras,
binoculars, microscopes, and telescopes. Reflection and refraction are the important characteristics
of light. The law of reflection state that angle of reflection is equal to angle of incidence. Refraction
is another characteristic of light states that it's bending of the light when light rays passes through
one medium to another. There is relation between wavelength, frequency and speed of the light.
Wavelength is inversely proportional to frequency. Unit of the light is generally expressed in terms

of nanometers or micrometers.

FHoA HTEES ST/ SPACE FOR ROUGH WORK oT.0
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21. WERTIITSAT o0 YTHER SHIOA] FehTRIT= QHTSST ST ?
(1) T Y& 9 faHrer g
(2) TSI YT MV 9T YehT™T
(3) eIt foRTuTi=T yehrel i gv Wehrst
(4) aOAtHR wET
Optical spectrum consist of
(1) Visible light and ultraviolet light
(2) Invisible light and visible light
(3) Infrared light and visible light
(4) All of the above
22, WeRTEl o T,
(1) 3x108 X fqdehg (2) 3x108 HIHIR yiadeg
(3) 3 x108 fHarR ghadehs (4) 3x108 39 Wfddehg
Speed of light is .
(1) 3x108 m/s (2) 3x108 cm/s
(3) 3x108 km/s (4) 3x108 inch/s
23. YRS HE Tl HeA feol .
(1) #e= 2) ¥HaHx
(3) fhefidiex (4) 1 sufor AR
Light unit is generally expressed in .
(1) Meter (2) Centimeter
(3) Millimeter (4) Nano - Micrometer
24. Y&HE T & EWEIE .
(1) eHIF T () faga o
(@) o Jeeg w o (4) olerient THE R
Light is generally in the form of :
(1) Magnetic Waves (2) Electrical Waves
(3) Electromagnetic Waves (4) None of the above
25. ST YehTRT feRTuni=it SRS € Sfivedn L=t wehre fohcom Ta

(1) = sTEd (2) T STEd

(3) TR T (4) TAURT THE G
Frequency of infrared lightis ___ _ than violet light.

(1) Less than (2) Greater than

(3) Equal to (4) None of the above

el RHHE! ST/ SPACE FOR ROUGH WORK
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Qe AT AT IS W9 ik 26 1 30 =t 3w foma.
Sea

Sera 8 4igg Teh e sRiine sifava wH EIv STHaT. SN SIre Waerul
FEAME T TR 3TH; R0 SIS SaTad € e W@ dveier araiEis! s i 9iE, =1,
FEeRee N HHEM Jaid. S Shaa & e wH FHTom ST Aard; a @ SR s SRR
AR FHd e AN, B SHoerail Siegl el FEed Wy antel Wy &iel THEies a8
ot Wifid FTeed degT A SHeTH A, SaFe B, Siaaw C, Siaa D 31961 S Yqd SYanmee!
S &1; sffeidate, sifegidis, sifcmpigfes anftn wfiesifasw Siamea o8 Helyvam 3a 4. &
HIT-FHeHRid g AaH SeEd 3.

SteEa FAIRTIY o] § Uvard fatEsu Stara siea] SEm el foreeur siaras
3T FA . B HIRIH SltaTel ST TehRfeeh 3t § SATEi=a1 aiid Jart o stea A, D, E 3t

- K SReHed foReeuiit oo, arodmd faeresumit shaee YRR 91w J T@IT; ot Scafsia shefl S o

A fateu SiaTad & I Wiead! S, e FRUes TRe e foReesor= stargweidn
Sirad A 31fo D &= Stfoies 81 s 21 Iehal.

YAeAta st Soed A € SYF THRae W oot S& 3, T A Stersardt
FHHRA § TSI AR, S A o U Th F oS Tdeftare] Sasken @eed T@ul,
YeAta e Siaaa A T SR ISrined i) &t aon, U, Y, SIS dcteh, vt HIaS serel 9E
EA. TN STIRI ALY e A § XfeAia o Y@ o, & STuaraiAed fueesan Tme-
FATSA-TaT T 5 31 & IRE Tema SiaTawd A T 95ad U o ' Wifgeiiq A 18 daiust
.

SeFea D ¥ TSN dREE! nftl SHicvrma SauedrEel S STHd.  ERNerE Y Al
ST ST ST W S § i AT e T Sheae D F.

ghysEde sifadie fordl € meEmsd STl dRUd SlRfcad SieTHw™ D W ®YiW
FaE.  SiaTa D 9 wEa @ feheg onfu siifesivaifimrer sroftyd 3td. 8@ goiqed
SiaET D 3 YHIT 200 - 400 U TR STHEAH 39; S SWUhiea g Suided YHYHRI Hesl Sueisy
3T

FHAT HEE ST/ SPACE FOR ROUGH WORK P.T.O.
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Read the following passage and answer the question no. 26 to 30.
Vitamins

Vitamins are organic substances present in small amount in many foods. They are required
for carrying out many vital functions of the body and many of them are involved in the utilization
of the major nutrients like proteins, fat and carbohydrates. Although they are needed in small
amounts, they are essential for health and well-being of the body. When these vitamins are
discovered on the basis of their function and before their chemical nature fully elucidated, they
used to be designated by affixing the letter A, B, C, D or in terms of their major functions, viz
Antixerophthalmic, Antineuritic, Antiscorbutic and Antirachatic Vitamins. After establishing the
chemical nature of these Vitamins, they are now refered to by their chemical names such as Retinol,
Thiamin, Riboflavin, Ascorbic Acid and Chole-calciferol.

Vitamins can be broadly classify as water soluble and fat soluble vitamins. B-complex Vitamins
and Ascorbic Acid belong to the former group while Vitamin A, D, E, K are the fat soluble Vitamins.
Water soluble Vitamins are not accumulated in the body, but are readily excreted while fat soluble
Vitamins are stored in the body. For this reason, excessive intake of fat soluble Vitamins,

Vitamin A and D can prove toxic.

Retinol or Vitamin A is necessary for clear vision in dim light. Lack of Vitamin A thus leads
to night blindness. Another function of vitamin A is to maintain the integrity of epithelial tissue.
Retinol or vitamin A is present in some foods like butter and ghee, whole milk, curd, egg yolk, liver
etc. In vegetables food Vitamin A is not present as Retinol. These food contain yellow pigment
called Carotene which is converted into Vitamin A in the body. So they are termed as

Provitamin A.

Vitamin D is required for bone growth and calcium metabolism. It plays an important role in

the absorption of dietary calcium from the intestine and its deposition in bone.

Vitamin D is formed in the skin by Ultraviolet rays present in sunlight which convert a
cholesterol derivative present in the skin to Vit. D. Lack of Vitamin D leads to rickets and
osteomalacia. The Vitamin D requirement of child is placed between 200 - 400 IU; which may be
obtained in great measures in tropical countries through exposure to sunlight.

HeAT HMMEH 9RT/SPACE FOR ROUGH WORK
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26. el feoiean aemEia Fed A § Siae™ ‘D’ =1 S @i g ?

SeTETE ‘D’ B AL TR BUATEIe] YAYeRTE S 3T .

STEUYT T SaEc ‘D’ € Hideh T9d.
Sfierer ‘D’ =1 HERae g B,
SaTE ‘D’  TREHe fateeom ST,

Which of the following statement regarding Vitamin ‘D’ is false ?

(1)
(2)
(3)
(4)

Sunlight exposure is necessary for formation of Vitamin ‘D’ in skin.
Excess of Vitamin ‘D’ is not harmful.
Deficiency of Vitamin ‘D’ leads to Rickets.

Vitamin ‘D’ is fat soluble.

27. TEM YAHE SaTE ‘D’ | YHIV Use ArTd .

(1)

200 - 400 )1 (2) 20-401U (3) 200-4001U  (4) 200 - 400 HIFHIUA

Requirement of Vitamin ‘D’ in child is

@

200 - 400 mg  (2) 20-40IU (3) 200-400TU  (4) 200 - 400 pg

28. - FAEHAST STURIATAL YfeATe=a Wasl Wieiiel THrafeh 92 319

(1)

FIGH (2) HRFHARLE (3) A (4) RS

In vegetable foods, instead of Retinol following chemical is present :

(1)

Curcumine (2) Curcuminoid (3) Carotene (4) Carotenoid

AT HIUTEE WA/ SPACE FOR ROUGH WORK P.T.O.
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29. SieTE Tfiw S FHel WA .
(1) Hfga enfor srEfaa
(2) = fatseum) shftn g foreesem
(3) ITAEYTE A0 SIS
(4) I A ST
Vitamins are classified as
(1) Organic and Inorganic

Fat and Water soluble

)
(3) Essential and Non-essential
) Saturated and Unsaturated

30. Wield A i ST
(a) feata, smafi, Rarcifas ot SR-wafawia & e e,
(b) SHATH HHT YA &L STHAM.
(c) STehiTeish 3T, YAt ST FARIEIH & Siea S7Rd.
(d) SeTaE ‘A’ S TEOUE ST T80 X0 § TeAieesqumd R 2.

SRt HI JATT/ TS W 3R ?
1) (a), (b) W0 (d) T A TRA (2)  (c) 3 (b) T ITHA 3
(3)  (c) WMo (d) ¥ 3TEH TRA (4) (a), (b) 3T (c) T T TRA

Read the following statements :

(a) Retinol, Thiamin, Riboflavin and Chole-calciferol are Vitamins
(b) Vitamins are needed in small quantities

(c)  Ascorbic acid, Retinol and Chlorofin are Vitamins

(d) Excessive intake of vitamin ‘A’ can lead to night blindness
Which of the option given above is/are correct ?

(1) (a), (b) and (d) are true (2) (c) and (b) are false
(3) (c) and (d) are false (4) (a), (b) and (c) are true

Tl FHHHIS ST/ SPACE FOR ROUGH WORK
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eI SANT A e SMLMRA U9 Tuleh 31 Q@ 35 of a2

T & o8 T TUET TG SI Theh 3R &1 S T8Hd @ THR(eh Jid o/ qarei=a g
Hefd T ST & 6,022 x 1023, SRR FHisEds < IR AL 60l SFHad. Yooy
TGAA T 1 TR TEiei s yeii holel SHE ST omft o emau o e gereien
36.5 A9 & I FASSHY SEIAM 1 0T FARAY STUEFAN 35.5 FA A= oSS F& fHesaan .
&Y ISUfa TR S %es § 1 g€y qeigie Hiad, AME & 1 atm=101.325 kPa {01
A (273 K) HISoet ¥, ¥ 22.4 F-SfawieX 3q% o7, 89 Thes TV IVl S I Sifr

PiVi _ PV, T
T, T, e fHese 1

AT SHE WH A1 THIH!

WY TEEe geretet d@efd 39 T : 9% (AaHHeR STaded) seia : @ (M),
FEHRAT (N), goEe(d (F) SN0 sga™ (A99HeR secied Ael) Suifia : Hieerdn (m), TEsE ()
wyeidfa #am. W) HWefd, M, € & uefadiex gevm o g fadt Jie oRd ameR 3.
JEMFA], N, § 3/ T Hgfdw % 95 The e &1 I faveviy aaqear) §e (ifed
THAA) =AM ATUfRARRE Gen (Aifed A8ee) i grages Aqare fawersoma sifufswan
Geieruifhdlel YTl T9d.  FEERIE], N, § T SHefaHiel SEvn o e fadl 99qed aTed
T 3. TERN TEEftes sfufrareres=t aaqed 9 1, & o Afufsramprem sRgam it ===
HAYEIIR I TR 7. 3T 378 STear=A1 YHYEAYRTE] Sl T T 378 TEHM i 591 1 A
TESISH 3R, W 1 WFT eersren tfufswan o fohan 1 9 gEgem facenfag w5

NN T STTHBRF 39T : ST, 3T0eh ST STHAW.  USTeAT FAMTIh{LA], FANTRISHER i ded
STFHRHIS foRE ZE0 g WHIUTG q1oit e 30 T o d. § foer, Hea grevmdia drergen fha
TS T € R gl Hiesen e 9o 9 el el ifest @ HEsA e
ST 3T,

TIGATIER AT STHCIeH; HieTerdl (m) FeUISTE Tenl fhainiv saemed forsresercrean grear=i dierde
3T T[T, (x) & UehT SIS SIEUHeEd I STem=l FOLU[eier € 99 Thdh ST,

(3] TAH : H=1, He=4, Ne=20, N=14, O=16, $=32, C1=355, Ar=40, Ag=108)

HSAT HIATETS SN/ SPACE FOR ROUGH WORK PT.O
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Read the following passage and answer the questions from 31 to 35.

The mol is a SI unit of the amount of a chemical species/substance. It is always associated
with the formula and contains 6.022 x 1023, Avogadro’s number of particles of the species
represented by that formula. The molar mass of any chemical substance is the mass in gram of one
mol of that substance, this can be obtained by adding the atomic weights of the component elements
present in the formula of the substance (eg. molar mass of HCl is obtained by adding atomic
weight of H ie 1 and Cl ie 35.5=36.5 g). The molar volume, ie 22.4 dm3 is the volume of one mol of
any gas (assumed to behave ideally) at 273 K and 1 atm =101.325 kPa pressure (STP). This volume
can be converted to the volume under any condition of temperature and pressure by using general

PV _ BV,

as equation
& q T T,

Chemists express the concentration of chemical species on the basis of volume (temperature
dependent) ie molarity (M), normality (N), formality (F) etc. as well as mass (temperature
independent) ie molality (m), mole fraction (x) etc. The molar concentration, M, of a solution of
any chemical species is the number of mol of that species present per dm3 of the solution.
Normality, N, is a more convenient unit of concentration as the number of equivalents of an analyte
(unknown concentration) present=the number of equivalents of the standard reagent (known
concentration) added. As a consequence, the stoichiometry of the reaction need not be derived
every time a titrimetric analysis is performed. Normality is the number of equivalents of the solute
present per dm?3 of the solution. The number of equivalents is the ratio of weight in gram of the
solute to the equivalent weight of that solute. The equivalent weight of the solute then needs to be
known which is defined as “the weight which contains, combines with or displaces one part by
weight of hydrogen”.

Commercially available reagents ie acids and bases are highly concentrated. To use them in
laboratory for routine experiments, one needs to dilute the solutions with definite quantity of water.
The total number of equivalents or mol in both, concentrated and dilute solution, must be the same
is the basis of this dilution.

The mass based concentration units are molality, m, ie the number of mol of solute dissolved
in a kg of solvent and mole fraction, ¥, ie the fraction of the total number of mol of that component
present in the given solution.

(Atomic weights : H=1, He=4, Ne=20, N=14, O=16, =32, C1=35.5, Ar=40, Ag=108)

HoAT KIS ST/ SPACE FOR ROUGH WORK
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31. 7 A A& TSNS Ny, 2 atm @R S 546 K AGHE™ dm? 3d% TT%hes ST
(1) 5.6 (2) 11.2 3 224 (4) 313.6
7 g of gaseous nitrogen N, occupies dm?3 at 546 K and 2 atm.
(1) 5.6 2 112 (3 224 4) 313.6
32. THRUMEER STHiedl FANTesd STavardIe!, Tui=an v fas axftedst S are Hefd
ThE/Thh ___ ®/H 3T/ e
(1) e THLUE (2) TE YEERIAT  (3) e Hicrerd (4) = wE
On any day of the year, to use in laboratories at sea level the most correct concentration
unit/s is/are
(1) Only molarity (2) Only normality (3) Only molality (4) All of the above
33. 1 4.9 74 H,50, ¥ V SHfeHIE grava ST, dl 1 Fraviel SHEIar 0.025 N 3kt 37, W
V= .
1 4 (2) 2000 (3) 4000 4 2
4.9 g of H,S0, is present in V cm?® 0.025 N solution of sulphuric acid, then V =
(1) 4 (2) 2000 (3) 4000 4 2
34. 10 ¥H AIET TEAGEAS H,, A S M AHEAR SHGS Hiel ST
(1) 10 2 5 . B 1 4) 01
10 g of gaseous hydrogen H,, at NTP/STP contain mol of hydrogen.
(1) 10 2 5 3 1 4 o1
35. TehT STHIGH! faveivory, 25 sREferte 0.1 N Tafgswsma TEfeieX 0.25 N 9rfie™
TIgrEE quiva sifufshan e,
(1) 100 (2) 10 (3) 250 4 25
In a titrimetric analysis, 25 cm? of 0.1 N HNO, would react completely with ___ cm?
of 0.25 N KOH.
(1) 100 (2) 10 (3) 250 (4) 25
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it SANT ST AR SR W9 Wi 36 W 40 < SWY .

HHTIATHF TR Asd FLaTdl el 3Tcd gfast el. Wy IRfEerdr=n T2 Arol s/@a ™
S HA AU T AR ITH U IsA.  Teh Qe Y Y : AR ST STHA HEST §H
iieodiaR feerd TTEATAE e |l el AeHaR I 8. Teh e Jaaie] d g 169 Uaediol. 73 =1
YT 74 = FSAGERR FHRAAA G NN T Wi ‘faedt wae’ TR HEA HeTSA YAd |l
‘forrsfaram’ ot o1& XAt R e T ' SRaHe ARAEN STl HERed Hleaan faw
o e Sty AN ST T8 R A5, TS HE ST Sreied] SRl fadhdenore’
HHTIITH R RIS AT AT GoEdHEd F-=A1 Heila W&qTd yidfee foqd Id. e slier ' e
q  yifRAeT A Wi s{qvia SeneA Yo SiEHel Y9kl SUIRT XA AR, HRUN AT MCIFST R
Tt B, TR I& S 1991 HEd Sqeied Hai+ fe SiRumes GHISErE a1 Heoheq-d W e 378
I TR A3, AYiTH, ST TN YA STl WA FHSTel feAelt Fed YUl ered o gl
TUSUT TR AR R T 3R, Sl hiediiel TMaH ST o Trifsieh, Usihia o onfefen afifeerdt
SR [T HUARAE! ST ST AT §l el 98eidl Yo 38 ¥ WHIH WAl WS HeAvd
Tt fagia §9g 9 Gatea <amemed A 1l fqaRret JH TR S, @ sleR 91 fagian s
ffide Guc2 #1d 9 Hale el MR JeAIcTs SIehue! Wishasl Hermdl feshfauar Saegrt
A1 W T N[ el Q@I (A0 hell 3T,

Read the following passage and answer the questions from 36 to 40.

Conceptually, the idea of basic structure is not sacrosanct, but is not amenable to change if
circumstances so require. An example will suffice here. The federalism that the founding fathers
prefered was articulated as a scheme of distribution of power between two layers of government -
one at the Union Level and other at the Provincial Levels. The Seventy-Third and Seventy-Fourth
Amendment Acts, in fact, altered the basic structure of the constitution by introducing ‘a third
tier’ besides the Union and States and was therefore ‘Violative” of the basic structure. The
introduction of a third tier is a striking distortion in.the prevalent two - tier structure of governance
because this change is in the direction of greater federalism than what exists. However, these
amendments were appreciated for having translated the notion of ‘democratic decentralization’
into practice and are thus reflective of the organic nature of the Constitution. Similarly, the
introduction of the terms, like ‘Socialism’ and ‘Secularism’ (though the former considerably cost its
salience with the adoption of the 1991 New Economic Policy) did not disrupt the basic structure
simply because these changes evidently commanded ‘general assent’. What is thus critical is the
fact that the values of the Constitutional structure that are considered ‘basic’ or ‘fundamental” are
not entirely sacrosanct, but are amenable to change if it is absolutely necessary to keep pace with
the Social, Political and Economic milieu. Although the basic structure doctrine creates a contentious
space, it none the less has struck ‘a balance, if an uneasy one,... between the responsibilities of
Parliament and the Supreme Court for protection of integrity of the seamless web [of Constitutional
Democracy in India].’

oAl HIWETS ST/ SPACE FOR ROUGH WORK
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36. 73 1 9 74 A1 HEAT GEl Sl §R Yl B FEfad et 7 ?
(a) TN faEu 'R
(b) TrRaih fochgRT
(c) WAEHME 99 21 %A 18 R wfaat
(d) heetad gewngs et e
YT I 941
(1) (a) P 2 @3 () @®F (@ Few
What was introduced by the 73'd and the 74th Constitutional Amendment Acts ?
(a) third tier of government
(b) democratic decentralisation
(c) reduced the age of voting from 21 to 18
(d) rules regarding union territories

Correct Answer Options :
(1) Only (a) (2) (a) and (b) (3) (a), (b)and (c) (4) All of the above

37. 1991 iR WRA TEHRA WHhReeT Faile Nl Rumes qeicrist Shivwr Jear Hewd HHt e ?

(@) WHNER (b)  HfRYem (c) PR (d) HEREFAE
TR T Ui

(1) (a) B (2) (@)= (b) G @3() 4) @9
Which value cost its salience with the adoption of the 1991 New Economic Policy ?
(a) Socialism (b) Secularism (c) Democracy (d) Federalism
Correct Answer Options :

(1)  Only (a) (2) (a) and (b) (3) () and (9 (4) (a) and (d)

38. UEIcTish! el faumM ‘ HiEmor S’ Sxifaet S ?
(a) MG SHACET Tifda,
(b) @R Hheu = 34 fehan faermamen wafe wie.
(c) WAER § = HHeHia Wiafiei=a Aa @ Aol H=Idl.
(d) THEM SIS G gal deEt WER Wahed .
3T I Ui :
1) @3fe @ @AM @) @AM @) () b
Which of the following statements imply ‘general consent’ ?
(a) support among the people.
(b) general rise or growth of a concept with agreement from all.
(c) acceptance among the electorate and their representatives in Parliament about a policy.
(d) doctrine about the general collective intellect of common people.

Correct Answer Options :
(1)  (a) and (b) (2) (a) and () (3) (a)and (d) (4)  (a), (b) and (c)

HSAT HIUEIS! ST/ SPACE FOR ROUGH WORK P1.0
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39. 1991 Wieht Wihrelel 9 e HiRor :
(1) FHRERER Ui g
(2) TSR @l STRTET Hattd Teed
() wHSEREaH qe T
(4) FASERE e T HOW e
The New Economic Policy adopted in 1991 was
(1) based on Socialism
(2) not at all related to the principles of Socialism

(3) indifferent to the concept of Socialism

(4) praised the principles of Socialism

40. SIS YAYA GO Geell IR TEHE Tegd SUCIed] Seelis GHYH Ul HRUAT LAl Ad ?
(a) GESHA a@:ﬁm ST &= §91 3118 =0
(b) IS FHIBERIR T TGUATEIST U0 ST 3718 UL
(c) HmfeIe, T & Usehia aRferdi=n devfd @ sea STewa 378 WUH.
(d) SITEENE STl AR Iod FrG= WEAMA a5el HAEE.
3 h I T
(1) ¥ (@) @ (@) () ()
®)  ®) () = (d) (4) R v
On what grounds are changes in aspects of the basic structure of the Constitution Justified ?
(a) Because it is the wish of the majority party in Parliament.
(b) Because it is absolutely necessary in order to keep pace with changing times.
()  If the change is necessary in the context of Social, Economic and Political Milieux.

(d) If the change is in the form of value addition to existing rights.

Correct Answer Options :

(1) Only (a) T (2)  (a) (b)and ()
(3) (b), (c) and (d) (4) All of the above

oAl HTATETS SIAT/SPACE FOR ROUGH WORK
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YT SART AT WTa ATRT U9 ik 41 § 45 <ff Y .

I 37 T TR FE A died Hiivae wHed® weu e Has W TE s
1. et f=1-f1 oA, walt o sedten ot Stea ! fohdt TT-gy, fohdt amer-faeR, fohelt <=,
fopet Trediaon | g SRR dicd FiE TR, 91 ARiqEd AiTedTE HEehR e saar . w4
3MIet WA, 39 Wifee. TEre ffaures ) & freswete Yot firemem S fahan fa=n o wta @ 9
TR TR, 5 e ST O WiehRat WISt 3nfon W= SRR 399 $ARA aivea™ fEada 39 ufsa
TS, S ST T R 0 AT e A A6 T Al FHHe THem T9d. e 38
TSATEAT T 5 3@ . S 3 o W30 Taed SioAr Wied AL, | TR 3 ST HT0! g Stern A
¥ MR, T SitoTe ST 3R, FAHIAH SAerehiie 1o WA wAe=rE S5, sifeshifuss quiver Spme
Y AT T2 . T Ted ST, Tod: = Yeiehs Wil sietren faenet g&7 2l shiét & B s, s
S, 9 @ Al 79 @ fasiy st 39 faeem. afifeerdielt Smem =01 wurst Ao Siam st/&n s
3T 31w, W SHoda IRFE st R drvda € Afae Sieel aiuR T8 98 aead Udie e
TEUAH et St Sl €4 W=+ e foud it 3711 161 femuR, Sfamr=an o e TR A@l 20,
T T ARG S ST ST 5] 318 Tee! o WHS] 91 i 3 W9 91l T o 3 B0k I, 37t
HTS At ToYd A, Tehell AeargTeiiet S qoW ¥ R, d T 3Trer=a qiiedia stevre smed.  enfr
it seetde T8 W? O FEa dre it adied Tey ofd W7 alel U ged ARl HRU
3MIEH P eH! TR STHAN.  hdes UGN Seea Hvard WY Afae Sied AL STuear S
gffeerdt stferhifees STIRa S0 Iraa TUGR Afdeh Siearan e 3T, gftfeerdten o1 SR o=, &t
forearqa auet e343 IAUW Ak ohe R W SIS = THIW Wiehr I, St qRiderdt e fasaredt
ST 0 AR Uk YRR Wit TR, W ek e quidT TR Wy & WiHe Stare aRquidr T, @
T fawm TR, @ Wi Tl e TR, 3 SR 3 U @ ffAdn T e wfes. st
gffeerdt ome, faem sTuean Sqe GHaIs! T hd & Hae! e, 8 geWd IR, TGN TeerTiyEm;
AT Fhord AL B IRAATR 318 T B AN HMH @1, S SFel o S=eral o @ di. S 5
T ST 319 YUY FIed, T 7o o SSHR FIVIHIS! WU HU § AT G HM. 51T R 9T
31fersh TRl Y0, Stfeh 3o UIcAhe I 0 AT WY . IRfedieh W Hes wer) A wied AR o™
TEl. W e 9 fafaeRa Tedie gl WIh SNt et R 96 o VR TR ft aesedt
fehoR T, At oIy dicd qeweR arevaTen ST €1, ¥ HHicgs SR arevd Qe TIe gaeetel
M T M ST T T GO SR, SaAreA Are Yahm el 39 fagidt el Tw o S A
TR SR Tell. UM o= Shost X I,
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41.

34
IAFAT | ¥
(1) Sfaw SfEam=n o, 2) @ Afdw Wl
(3) HUNGH SHATT Hadl. (4) e .

42.

AGHTAT 7 G Tewne ' R ?

1) 0t uftfeerdt R foreamelt oo SaeaTaR et il

(2) ST S YS! aneen el TR FAeA SRS HEA Ho.
(3) IO TRFERRIATROT A TTERTRAYHTE halol Had FHMET S ST,
4) Tafau T SgEd S FHICES SIS U qrevard] ST SO,

43.

I SRS U ST Yoo YoM vt 2

(1) 3N, 5, fowR, e, aedan ameR fas fivesfe.
() MR i, Al fomhfaa sda s,

(3) & 3N A A FU F g Afuepifies e FEsE o,

() Sl A el aRftert aged T AT J” IR S,

44.

e e SaAren * ST’ Sior ?

(1) s9ea Afwara i femfao,

(2) I fHHEATE WSHR FEA W Rfedieh e S,
(3) el gftfeerdieh Seoe =,

(4) 3o g aRfkdt sty sgEa H.

45.

At WA TS 1 ?

(1) ﬁwﬁﬁﬁfm%ﬁww

) éﬁaﬁan%mwﬁwww

3) fw‘fww TR ST ST SR 0.

(4) ﬁaﬁwmﬂwwwﬁhﬁﬁﬁwmmwﬁ.
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Read the following passage carefully and answer the questions no. 46 to 50.

So Tiziano continued to draw. But one thing troubled him greatly--all the pictures he made
were black, drawn with his piece of black charcoal. Yet all round him glowed a perfect glory of
colour--the beautiful blue of the sky; the delicate, changing pink of the great jagged peaks above
him; the red, blue and yellow wild flowers; the golden brilliance of sunshine; and the rich, soft,
mellowed tints in the old houses of the town. Colour! Tiziano loved it more than anything else in
the world. Yet how was he to reproduce it and get it into his pictures ? He had no money to buy
paints, and paints were expensive in those days. His father, who was a mountaineer, would never
listen to anything so foolish as buying paints for a boy when the family needed food, clothing and
fuel to keep them warm.

Let Tiziano make shoes! There was a trade for a man! All the same, Tiziano continued to
dream of painting and to wonder if there was not some way he could make a picture in colours.

The day before the festival of flowers, Tiziano chanced to pass the spot where the garlands
had been woven the evening before. Suddenly, he noticed stains on the stones of the walk before
the inn. They were stains from flowers that had been dropped and crushed, and those stains were
coloured! They were every colour that a painter needed! In a moment the feast and the fun went
out of Tiziano’s mind. Catarina saw her brother heading away from the merriment and hastening
out of the village. She ran to bring him back and found him in a meadow like a variegated quilt
from the brilliance of the wild flowers. “Tiziano!” she called, “Why are you running away from
the feast ?” The boy did not answer for a moment. Too often he had been teased by his family and
the villagers for the crazy dreams in his head. At last he answered bluntly, “I have found that the
stains of flowers make colours, and I am going to paint a picture.”

46. In the third paragraph the word “Variegated” means :
(1) marked with patches of different colours
(2) having different designs
(3) flowery
(4) of different varieties

47. At the end of the passage it is clear that Tiziano had discovered :
(1) that he could fulfil his dream of painting with colours obtained from crushed petals.
(2) that painting was a better profession than making shoes.
(3) a way to make his sister happy.
(4) away to add the fun of the festival of flowers.

48. Tiziano's father wanted his son to be a .
(1) Painter (2) Cobbler (38) Florist (4) Mountaineer

HoeAT HIHTAS! S/ SPACE FOR ROUGH WORK P.T.0
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49. Tiziano’s ‘crazy dreams’ that are mentioned in the second paragraph refer to his desire to :
(1) Make the best shoes in the land.
(2) Find a method for recycling the flowers from the feast.
(3) Bring prosperity to his family and his village.

(4) Paint pictures in colour.

50. Which of the following word best describes Tiziano’s father ?

(1) miserly (2) artistic (3) insensitive (4) generous

51. BS C &N T 5 3ifieh 3TRd. A Va3 B Uen T 14 3ifue ogd. 1 fasiweiar 39 9um |idier o9
q-Sam ferel.

(1) AT BT 6T U B & C AT 3 <34
(2) ATIBTNT3EA MUCaAT A FHSA T 6 fraxdan,
(3) AR CTN ST M BN A FZART 3 fesiicl.

(4) ATCNT2ET T BaT C e 5 e

B has ¥ 5 more than C. A has ¥ 14 more than B. Select the transaction that makes equal
money to all the three.

(1) AgivesI6toBandB gives¥ 3 to C.
(2) AgivesI 3 to B and C receives I 6 from A.
(3) A gives¥ 8 to C and B receives ¥ 3 from A.

(4) AgivesT2to Cand B givesI 5 to C.
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Tz Wiawr= frmeda et ffdd onfor groft REr=r 9o geaeen anfe=n fafire ger=n
ST YareTd A e sReren fuvren wiTa Saedn deel HeRl TUaTSAT TUTERd SeTui YR
el Tae el T Riam & &= AEqrE=a W GToanA Megd Haelel Wdles FIeRequl Tk SHdl
N IR HehTarEh 2R JaIdEl FigH S 319 e 3R,

A T R e feerean sivren frepuia, aiier aRserda Wiiedi=a SuR |t ey gwelq
FHAT AT ?

(1) SR T YSHMA TIOi TS Ivar=Al S e i1 ST QUh AT A= ST SMER
S Hos Riveai= Ieare &t R dl e hide.

(2) SR I IUATH A Ve T YGHM TR WIS FIg Mehel ARG TR HRGTASAT 0GRS
g1 RIeS gadiat.

(3) SR AT GSHMA YGRS QI SThIS TerdTe el Toeiedl qareifa §9iak el el @
w@A: 9 HIHREE YU B,

(4) TIIHM WO AT STEISTqT A9 0T Tt 3T fn an wiRkfearfaenta coni=it e s
Trifa i Toeam 3R YR IEel 9 SR

The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain
variety of mussels that proved to be causing nuisance to the working systems. But it is found
that the bags of these calms when suspended in the effluent streams of chemical plants, not
only improves quality of water significantly but also remove some hazardous wastes from
effluents just by feeding voraciously on the algae that they filter from water that passes by it.

Which one of the inferences given below, if true, is most strongly supported on the basis of
information given in the above paragraph ?

(1) If these mussels spread to areas of the river and displace native calms that support
cultured pearl industry for decades, that industry will collapse.

(2) If the mussels failed to consume the quantity of algae available to them, then the intake
pipes of the nuclear plants and water plants will get clogged by it.

(3) If the wastes from the effluents are not transformed into non-hazardous chemicals by
these mussels themselves will become hazardous pollutants.

(4) These mussels are brought in this area through freighters and are thriving here since
their population is not controlled naturally in the ecosystem.

AT HMMES! AT/ SPACE FOR ROUGH WORK
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53. Siegl U N T 18,700 1 foenedt, dee1 o1 WIiehre 15% TEM @Iel. ot ST foheil fehwctten forepmre
Tifest B, TEUIS 15% TORT AT ST ?
(1) T 21,000 (2) T 22,000 (3) ¥ 25300 (4) T 25,800

When a plot is sold for ¥ 18,700, the owner loses 15%. At what price must that plot be sold
in order to gain 15% ?

1) T 21,000 ) T 22,000 3) ¥ 25,300 4) 25800

54. @WMWW&WWMWWWWWW
fra=.

SR TR ST feha yehTer Scafsla B oTiet @ fe Sl wed. WU SR awEl S R oHa
W T Swran fehan weere ScafSta werem €L

(1) SR IS YU o1 T A3t N0 W= 3R, T AIhe! areEre i stafer
3T, R TR TRITIEST STHATETEN ST T qral 41 QIvgt Fhadrodl TIa=Ai1 Jehl.

(2) TR Rt gu froma sEda fhar @ STeasamrA stede UK HHrE! 3R AR ¥4
THA. mewmmmwmwﬁw%wﬁw
A e,

3) wmmm%mmmmmmmmﬁm
LREEINICI RS CrRE T G

4) 21@%@%%%@%%%&%@%% feAT 19 Fwtst
ST STS[E URATYE A hild SN Tl IS & Wehdl A1l

Study the reasoning used in the argument given below and select the option that most closely
follows the same reasoning.

If heat or light is emitted by a body, then its energy decreases. It follows that, if a body’s
energy remains constant, it has emitted neither heat nor light.

(1) When either freedom of speech or freedom of assembly is present in society, democratic
government inevitably results. If you live under a dictatorship, you must therefore lack
both of these key liberties.

(2)  Either the fans are very loyal or they don’t mind the team losing_weék after week. No
fans like to watch their team being beaten, so they must be very loyal.

(3) With water and sunlight this plant will thrive, since both water and sunlight are
necessary for a plant’s survival. :

(4) Anybody over 21 who holds a university degree or equivalent is eligible for selection.
Since Amina is 19 and still an undergraduate, she cannot be eligible.
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55. U AfcIohA Ueh ! 4Y- TEM WA, U1 ST STHeIe Tdes df SRUAART 1Y, A ST ANTaTe.
T Tt gl Wt S8 W Tasdiges ot et s anm 9@ e

(1) 18 hr. 2) 12hr 3) 9hr (4) 10 hr.

A pipe can fill the tank in 42 hours. But due to leakage at the bottom, it takes 12 hours more
to fill it. If the tank is full select the time that it will require to get emptied due to leak.

(1) 18 hr. 2) 12hr 3) 9hr (4) 10 hr.

56. A, B,C,D,E 30 F & 96 WENihe s H¥T HAGEIT U GSWIME! TE@hR q9aie 3ed

- afer <t A Redem FEM SEAE o L. A R & F =1 WHR ST C =T TS S R,
E? 9 D foa1 B =31 39 L. BR 9@ A =01 A9 . SR B € & 01 SEGRE GarsAl
HA Fald FIH FIESUR FEA W Gieedr e Jgel FAW qeul arcrvaret qet 7 fieun g@
frae.

(1) wHD (2) EHF (3) TWRDFFNF (4) WHE

Children A, B, C, D, E and F are sitting in a circle facing each other not necessarily in order
given here and playing game Chinese-whisper. A is sitting opposite to F and to the left of C.
E is not adjacent to either D or B. B is not adjacent to A. If B is the first child to say the
message and whispers in ear of child on its left then select the child who will not get the
chance to whisper message at end of the first round.

(1) Only D (2) OnlyF (3) EitherDorF (4 OnlyE
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57. Ul ThESt urE fawa d0. adien Seert g wiell. sfoerersn st v, e fagme enfir
i 9 3 Arsamsl WSt fawa dan. W adde geara wivrn favam siel ?

(1) ¥t (2) T (3) i (4) sfae™

For an examination, there were FIVE subjects. Examination starts on Monday. Mathematics
paper was previous to History. Science paper was after Geography and Marathi paper was
in between Geography and History. Examination starts from which subject ?

(1) Marathi (2) Mathematics (3) Geography (4) History

58. TGecIel ST W& wamIet S1ei=l 91 a1 fHesavarne feciean vataiqe 3fad wessiel fae.

™ 9 ARl TgdM Faie gl 999 STHede e ALges e favm wEr=
oA were . e sifaw ufed.

(1) SARImErer STftr AFa 2) fTa= sufor enfsamon
(3) e afor enfSaren (4) SAfysmRgE o TH

Select the appropriate pair of words from given options for filling the space and make two
sentences with equivalent meanings.

Many senior faculty members who were accustomed to being addressed in a more collegial
and egalitarian manner were alienated by the tone of the new department chair’s
introductory remarks.

(1) Sanguine and Propitious (2) Saturnine and Ignominious

(3) Peremptory and Ignominious (4) Imperious and Peremptory
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59. Wi WA @, $, b 9 # A1 Fa-ai=n YRITymmo SYanT el SR,
A & BTUN A ¥ B Y& HiaT A&
A$ BRUN A ¥ B &1 weF fohar e et
A @ B U A ¥ B Y&t #ial fehen qu A
A # B T8I A ¥ B Ual e T
faam: H¢D,T$D,F$H
M : () FoD () T#F () D$F
IV ST/ ST Fed 378 ?
(1) THS ¥ T
(2) T SFEHT (D) T
(3) hed ITTHM (II) €
(4) ST (D) A (1) FA
In following question, the symbols @, $, ¢ and # are used as follows.
A ¢ B means A is not greater than B
A'$ B means A is neither smaller than or equal to B
A @ B means A is neither greater than or equal to B
A # B means A is not smaller than B
Statement : HéD T$SD,F$H
Conclusions: (I) FéD () T#F (Ill) D$F
Which conclusion/conclusions are true ?

1 None of true

3

(1)

(2) Only conclusion (I) true
(3) Only conclusion (III) true
(

4) Conclusions (I) and (II) true
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60.

42 A

REST, MITE, STIR 31101 TRIM ATeh! 71 IIeci=A ek Hohdidl STshwRIed AT 1456, 3154 9 4231
TSN 3R, SEMI 1 WsaTaiat Hoha faret,

(1) 5625 (2) 4265 3) 3265 (4) 3526

The number code for three words from among REST, MITE, STIR and TRIM are listed here in
a random order as 1456, 3154 and 4231. Select the code for word SEMI.

(1) 5625 (2) 4265 (3) 3265 (4) 3526

61.

FEIETSt U AU Tohs fies STure=a1 TEEn el S BId 90 hid S 3 Sl i halvl
TS AR, 1S & 9! A1 IHEl ST, % ol € el g9 shishTa 19 Bidl.  hieiiell |ieh a9
S g @ Tt ufeett frae 7 St enftn et 29 &t S, T 9 el = e e e
TEd TEd oot @ foeim o foe=n warer fraga Sa=t g AR Toe wvamen w6dt feeft.
e o AF AT So fowe AR freae Felt. wiget fowd fae e Sl @ e Tk, A
Aot 17 Fraden @, 2= faden <M snfor 3= Fracien w agar o fyifa woamEet
1 UTHA Sl SR TETe TSHT0T shivm=iet ufeedn shHm fere T8 at a9 S el 14 o @it
. T @ geAel el e e

(1) K oo 2) 9 foan 3o (3) e Ol (4) ¥R fhan e

Five friends wanted to go on holiday together to one nearby village, but they found it difficult
to decide where to go. Jai and Mano both wanted to go to Pane, with Fene as their second
choice. Kali wanted to go to Make, while Lily’s first choice was Gute and Naz's was Tembe.
Naz and Kali both put Fene as their second choice, while Lily gave it as her third choice,
preferring Tembe as her second choice. Kali and Mano put Tembe as their third choice.
Jai’s third choice was Gute and Naz’s was Make. They agreed to allocate three points for a
18t choice, two points for a 20d choice and one point for a 31d choice. The friends decided that
they would not go anywhere which was not someone’s first choice. Select the place they did
go for holiday.

(1) Only Tembe (2) Pane or Tembe (3) Only Fene (4) Make or Gute

HoAT HIATG! AT/ SPACE FOR ROUGH WORK
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62. U fameiaed 2 @, 3 fewa onfn 2 fres <ig oIRA. SR Igfashan 3 9§ Fiedl W W THal 9
Teat reroaTst ez fenelt 2
y 2 , 1 5 10 o 5
» @ 5 ®) o @ -
If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue ?
o @ 5 ®) o @
63. T GUCAN hrel Ueft ARd. A 79 9&ft JRamel o <71 vaft fouharel siied.  Irdiiel shrain gt

T fouhdl oTRd. HURIGHANIS fuaes | qediie! Jish IeTell Tehak g g fohar fous amed,
TR SR oel 9edident a1 %ed foush oed. 91 UUeraardiel qegi= Yo 3rere fam
& faet.

1) 19 @) 17 @) 15 4) 10

In an aviary there are a certain number of birds. Nine are crested birds and ten are spotted
birds. Some of these have crests as well as spots. Of the seven yellow birds in the aviary,
each one only has either crest or spots. Of the four red birds in the aviary all have spots only.
Select the minimum possible number of birds that are there in the aviary.

1 19 @ 17 @) 15 4) 10

oAl HITEISI ST/ SPACE FOR ROUGH WORK
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64. TH WA A, B, C, D, E 9 F A1 ToHiaq Foaiolial ST Aigaciedl [=anel 2018 |rers
THRAN VR THeSaIA STerE o Hied! Aifedl ST Aigderedn T=idl T & 210000
i,

9 39S W E AW g dl G B TSAMIET T ST THRhaRl Hag .

2
1) 25% 2) 21% @) 163% 4) 16%

Study the pie chart of percentages showing crime against women in states A, B, C, D, E and
F of certain country in the year 2018 and accompanying information. Total number of cases
registered crimes were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry
death cases registered is 9 then select the percentage by which dowry death cases in state E
is less than that in state B ?

2
1) 25% 2) 21% (3 165 % @) 16%
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65. Tere Hifedl Flsigaeh aral 9 e G e I farel.
(a) XTY TR T8
)  ZE X S e
(c) MEN S 3R
(d) NEY = geri e
M = ShTehT STHURT Skl 0] ?
1 X 2y Y 3) Z 4) N
Read the information carefully and using it select the answer to question.
(a) Xisa brother of Y
(b) Zisasister of X
() Mis a brother of N
(d) Nisa daughter of Y

Who is a uncle of M ?
1 X . 2 Y 3 Z 4 N

66. TREE TS Y =1 SE Wi fHesaeredt wet .

Q

> Y

(1) QQ @ |» 9 (3) q@ 4) @

Select the fold that is obtained by folding transparent sheet Y.

S

> Y

1) Q\Q @ |m 9 () n@ (4) &

e HHEEST W/ SPACE FOR ROUGH WORK
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67. P,Q,R,S, T 3T U a1 Akt B hidiehedl 3Ted. ATl Ueh oAkt STEATIeh, Ueh okt SR Tdah,
Teh ekl Rl S =Tead, Ueh et Tt STfor 5 Fordn aedt oed. a1 e o foanfed
Sedt STed. TYUTe SFaiA S ¥ fodTe Shetl 31, St Sidehdt 3118, Terdiel Ushd! Wil Jerel 294 arerad
AR fohan SR ahet ). R & et 9grEt 2o Aered o U gl Sl faamg el o1, Sit
3T AR, P S M foams hen e o7fn T & et el el feoiean wafaiqq steea faum
IRCER

(1) e femie o gen fiEa 0 e .

(2) STt SHai TYUe 38 A Ternid i AL

(3) STt =M =N TH e df FHR e [y 9a .

(4) T VR R N SN HEH SR

P,Q, R, S, Tand U are green activists. One is a teacher, one is a health worker, one runs a
tea stall, one is a librarian and two ladies are farmers. There are two married couples in this
group. The librarian is married to S who is a farmer. None of the women in the groups runs
a tea stall or a nurse. R runs the tea stall and is married to U who is a teacher. P is married
to S and T is not a farmer. Select the statement that is false from given options.

(1) It is not possible to ascertain total number of women members of the group.

(2) The person who is librarian is definitely not a women.

(3) The person who runs a tea stall is definitely male member of the group.

(4) There are definitely three female members in the group.

HoAT HAMEIS SR/ SPACE FOR ROUGH WORK
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68. TR T Fessigaeh argd Jfarerea s Fard Sad JuH HUR faym faen

A Sfea a1 AnEfafed M wa ar TR aRAige Mk SR 9eR g
Frieror w0 o 9l TR, WA Gt SR YIg S IR deors Weaal Fieror swiar st ande
FTE UGS Ih B G 981 U THA[ A 15 TR T2 GieiloRk Tad Had.  qoEr
AIHH, FaTE S0 FaM Frde = facag et mied Sfetedie TERTed Ia JRfa Hom
fagmeEew F9m T WA g e FEba wa daa. fosva: st 9 o it defia
AT HET TR THET A1 AR S8t R Seced = wedy dedu waitad
I B

(1) ToIrERie SRR WA S 15 TR §e Wiee TaM H§ WHdw.
(2) HAd TRURA AHHESISS TU Fet 9 3 A=A THR RS die 3 e

(3) UUIRETC WA AR SHRAEa Y g e st S foren IR e 9 o gwres

(4) vIRETES WG dRA F,

Read carefully following passage and select the statement that best describes focus of
argument.

Using technologically advanced manned and unmanned undersea vehicles it is possible for
oceanographers to observe sea floors. Direct observations of the ocean floor are made by
deep-diving submarines and some of these submarines can dive to depths of more than several
miles and cruise at depths of 15 thousand feet. Radio equipped buoys can be operated by
remote control in order to transmit information back to land based laboratory including
data about water temperature, current and weather. Some of mankind’s serious problems
especially those concerning energy and food may be solved with the observations made by
possible with these underwater vehicles.

(1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

(2) We are facing serious scarcity of energy and food with respect to ever growing
population.

(3) Advanced underwater vehicles collect information about sea floor which can be used
for solving problems related to energy and food shortage.

(4) Functions of advanced undersea vehicles.

FHeAT HHEIES! AT/ SPACE FOR ROUGH WORK P.T.0
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69. TH FHIY @ ufiaide AR, d K Sgdedr=n A 45° 41 doed, J=1 Teaedr=n a9
180° T Feed STV FaX A=A faes fa@ 270° T dead, T &1 fa<l H@ hivre fedie o1 ?
(1) ufem (2) == (B) TW (4) TR

A man is facing towards West and turns through 45° clockwise, again 180° clockwise and
then turns through 270° anticlockwise. In which direction is he facing now ?

(1) West (2) North-West (3) North (4) South-West

70. @i eAdent fadl §ei1 273 3 Wi S e ?
546, 1156, 3003, 3564, 5733, 3822, 9605, 8736
1) 5 (2) 3 3 4 “) 8
How many of the following numbers are not divisible by 273 ?
546, 1156, 3003, 3564, 5733, 3822, 9605, 8736
1 5 2 3 3 4 4 8

71. feoiedt faum o @gesh srgam s feoiean faumier snutia Sfed s/gamrEh fres %
(a) HIAER Yo Ha gfeht Wealgt fies fog sTaeiel -3 wiaqet 3Tl
(b) FEAER TS T QA Bk Wood eI
(c) TR Bieh! Wedlg M8t 2 SEel ST,
(d) 16 aTERIE B Gearg TeH! 2l ST
it 39T
(1) = d-weeR fres o TR oTen wel =il 2! WG el
) e 2rdt mraeien e St 2ot Weolg TR
(3) 2wl T SR Wealg 16 IuiETele ST,
(4) S THE AR,

Study the statements given below and conclusions that follow these. Select the appropriate
conclusion that is based on given statements.

(a) All hockey players playing on the ground wear T-shirts with blue emblem.
(b) All players who are on the ground don’t play hockey.

(c)  Some hockey players also wear blue caps.

(d) Hockey players who are below 16 years always wear a cap.

Answer Options :

(1)  All persons having blue emblem on their T-shirts are hockey players.

(2)  All persons wearing blue caps are hockey players.

(3) All hockey players wearing a cap are below 16 years.

(4) None of the above.

HoAT HUMEIE! ST/ SPACE FOR ROUGH WORK
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72. 400m,mﬁwm9mwmwm%mloﬁaum@mﬁ. W R feaeht &=
TR 8 T FM FOR fhet sTfafed Ao St 6 20 feerama of wedte ?
1) 275 (2) 250 (3) 675 4) 400

th
400 persons, working 9 hours a day complete % of the work in 10 days. How many of

additional persons, working 8 hours a day, required to complete the remaining work in
20 days ?

1 275 2) 250 3) 675 4) 400

73. A,B,CED I KW GUE] 9930 T 37z, D = 94 Hfv=a &a.
faar faum -
. AFCI= Fa= 909 60 99 3R,
I. D& =i A e 10 IuHT TRH TR,
oo TmeN W fassavarsn gfier dma wig fae.
(1) hees fau™ 1 YA o1 Shaes faum 11 YA aerel fagr Qe o,
(2) TaUM 1911 9y YEEeie foer Thiaan g oTR.
() Fac faum I 9yA Qaeiel faar gt st snfor faum 11 =it W= e
) faum 1911 9y Qe foq1 Twaae g ==l

The average age of persons A, B, C and D is 30 years. Determine the age of D.

Data statements :

I.  The sum of ages of A and C is 60 years.

II. D is 10 years younger than A.

Select the correct option with respect to getting solution to stated problem.

(1) Data provided in the statement I alone or statement II alone is sufficient.

(2) Data provided in the statement I and II together is sufficient.

(3) Data provided in the statement I alone is sufficient and statement II is not necessary.
(4) Data provided in the statement I and II is not sufficient.

THoAT HUHEIS T/ SPACE FOR ROUGH WORK PT.O
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74. THGHH A, B,C, DT STHA 5:2: 4 : 3 1 THIUIG fAUFTEART 3R, SR C &l D 9&l T 1000 ST
fHoared, T B =1 =er fomelt aret 2
(1) %500 (2) ¥ 1500 (3) T 2000 (4) ¥ 2500
Some amount is to be distributed among A, B, C, D in the proportion of 5: 2 : 4 : 3 respectively.
If C gets ¥ 1000 more than D, what is the share of B ?
(1) ¥ 500 (2) ¥ 1500 (3) T 2000 (4) ¥ 2500

75. Y3 gfHaIG sl e ardl. SeNdeh 9geA Seeidl il Hhyldl W& wH HugrEn o @

T<a fomrian et &) Hevarelt Heifta = ¥ Sifaom v sty 3faa Seum vty fHere

HITHYETAT TROTHIET ST9ATE IO HINLH= Teh! FHRIA, S eki] TUHH TR HUTET S

Hiw fram @i 2.5 T e fasrian i sTEal o/ geedt TR, M A ad & YHuH=

e sfavia FEd Hafud Sue R el $TR. A1 WU SR el HeEHl e

o= FIEIH S Fuigda AAifed Hedre SRR Sl 378 & il s@e NI Hewar= el

IR,

(1) 97 81 &< Tahmi SRy STHU Y@ e 37s 3§ @HIRR JeAiad Sl 318 W/ a1 =
HIHIATI Igel 81 YeA&TTO! ATV Taere) YR Il i Jreas™ Hifed! Mol el 3T
H T A1 IRTERE T B

(2) IS YOG R HIOTAA A UIH 7 SO St Tk JIaais 92 il fam 3

(3) ISl YHIUIG it 0T TS ShieieeXerel Uides! S@UaTH HRUNYT Bid 7 377 HeNEHIT Ie
3T 378 3T ¥ TEAfarRI=a e HIsRT= TS Waed Sy TR,

(4) T feaeh d fohan sifus w9 il o= S STeien seafaeni=T 4 < feami=n
Y& SIQT HihIhIr=A] JHIUTE Sledl 378 Tl W Hheled Geen Sesed .

Read the following argument carefully and select the most appropriate option that if true,

indicates that their decision is not aimed at decreasing team member’s risk of heart disease.

A team of researchers studying effect of drinking coffee have found that persons drinking

more than four cups of coffee have a risk of heart disease 2.5 times than the average after

correcting it for age and smoking habits. It is important to note that the members of this

team declared that they have started limiting their own daily coffee intake to two cups as a

result of above finding.

(1) It is well established fact that the stress is major causal factor related to heart disease
but it is not clear whether this team has collected information about variations in coffee
consumption are directly related to the variations in stress levels.

(2) Subsequent studies have shown that non-smokers consume coffee at about one-third
the rates of heavy smokers.

(3) Subsequent studies have shown that heavy coffee consumption causes an elevation in
blood-cholesterol level, an immediate indicator of increased risk of heart disease.

(4) Their own study found that for persons drinking three or more cups of coffee daily, the
additional risk of heart disease increased with each extra daily cup.

HoAT HIHTEE! ST/ SPACE FOR ROUGH WORK
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Decision making and problem solving question no. 76 - 80.

76. TI AR ATERINE SR ST Tahl ST $1aiforh e Serii= e Y90 Hargal el
TETEATE JHIOTS JUATHIS! Tl THU hefl 3T, 3T SHIARIGA X AT Ieafviferd sasrii<t qared
H3 forell Teht faramTIdier TH@i STeaTyeni= veree! fae wel $ie SN0 Jaraashri=al e at
it GUF e Tecsel]. A AW SR STHerd, TH SHSIH S 9e Trerell 9ea 9 o]
X = FIeaaTad TRRIEH FHIUTS T STHI TR Sa1d el 3R, Wi TH JHNE T8
ST X T S0 1 Ta9mTr=n Y@ STegviia ST WE 3. 91 9okl Jias w@a:=
Heh STTE e A1 G Herel! T TE HIde TR W o, g

1) . TR el S Uohre SRR ST ae ;= AHEh i Yol TEUETEe! et el
2) .. T eI Sollel SIS FHAT T JIA hed THUE hlal hBHES IGH Haifed

ST °h|E:| chloo AlAld <Slenled.

GB) ... ;=1 W THU STEAvaIe! (ST wFEe! 8 e (el R o o e IERUR

@) .. FHITART SN 7 ATl G T TR Haageidd o JHIUERT0 e o1 o7en fodt
Tl 1 SHhailel S,

You are a medical practitioner and appointed by the prestigious educational institute for
allotting fitness certificates to all persons before they are employed in the institution. A
highly qualified person X is interviewed along with many other candidates and was selected
for the teaching post by the head of one of the department as the panel of interviewers found
him to be very competent. Two members belonging to your community who are faculty
members of this department approached you and pressurize you to give negative certificate
about X's fitness. They are interested in creating trouble for the X and the head of the
department who belong to the same community. These persons might use their connections
and cancel your assignment with the institution in the future. You will.....

1 .. tell these persons that though you belong to the same community, you are not
appointed to follow their suggestions.

(2) ... try your best to delay the appointment for some time and make X and the head of
the department, miserable only for some days to avoid pressure from these persons.

() — certify that the person is not fit for the work for which he has been selected as his
heart is extraordinarily large for saving your appointment.

4 .. request them not to interfere with your work and allow you to execute your duties
scrupulously and righteously without any kind of biases.

oAl HIHATS ST/ SPACE FOR ROUGH WORK P.T.0
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77. T it STTHE HIAT U FIR THL A AT SR, SR ST U dehd 307 S
THAS Tk AT IR IR UM TSI, HIhTRIRIA HARUNTEE o Td FehrCH! hH .
FHTEISU FHITE STRA.  HITHANIFR KNI e TIa HUIId Hgwelr=! YfHep! Ssidard 7l
TET TR Fered] S STIERT Fell 3R SR Afed! QUM FHATd @ qH=1 e
3. HIZHARTH IS ST HIUAGA § HAlfGd Gl BIesdl fohall HeRdMI shicehTaehre
0] ATETSRIER Hdet S Sfor aufas SRR Sl 8ia S, ® Y0] et Hga 8 Aesieeser 9ftom
FAM. A AT KA %, I T AT Joit foshfad gar. a1 Afedien g Jiad s S
39 ?

(1) T A SR So9 STl GRET WIEA Qa0 i1 STaeash hiedsil S hiehIeh
TIATEUAT ST FERwATe WIS SE.

2) ¥ wd Sftasmeh THRITeh SieehTereh 9o iea ST fas= et 7 a9 e hieehiag
@)  fauy Tt SeamEed S fohan STiatsTa ATaed @it Afedt fiese, wamT STEe!
TE YU HIEHARIHl IqAHdl M e

(4) it sTorEl deier frepatardt eieH amfor dradfa iR AEh fieh gHfdE Savarret ST
A A HIEhHARIF AR FE S

You are a farmer by profession and own a few acres of land. Many other farmers from
nearby places, those own insufficient land and landless people, work as labourers on your
farm. They do all sort of work including spraying insecticides and herbicides. Many farmers
in your district committed suicides and continued to do so including some of your workers.
You came across the newspaper article that informs that many studies all over the world
claim that insecticides play major role in motivating persons to commit suicides. It is not
limited to commit suicide by drinking insecticides. While handling and spraying, molecules
of insecticides are inhaled and get accumulated in the body over the years. This affects
human brain and neuro system and attitudes like frustration, depression and self-destruction
are developed among these persons. What will be your response to this information ?

(1) I will provide all quality safety equipment to my labourers and train them to handle
and spray insecticides with necessary care.

(2) I will stop using these chemical insecticides as they are life threatening and use other
remedies for saving my produce from insects without bothering about the yield.

(3) I will consult reliable expert or get authentic information using internet to find out
availability of safe insecticides, even if they are costly.

(4) I will have to wait for further research and till then I will continue to use insecticides
that I am using now for to keep my crops safe from the insects.

oAl HTHTHIS ST/ SPACE FOR ROUGH WORK
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78. T fog A vegw fomneaten werht fefoer Fe2 gumes oTeM. HIOCR! ey Taeet mfedt
IR TR TR 21 ST ST STeT Tfed o Haa S HEhRETH SHaRia o= gfuHisTerd

(1)

A1 HEI=AT e HEhelid el Giaerer qura sidt .

SR SHd ol sramn suftr it SarT wresst Svar= w9y Yt faeneat fordt
FHA.

SeIFhTE T FEA STEATIHIAT A HTEl A3 SUT Hed Wl ATATes oM FHIER
<=1 ST ford) .

e shE Gie ST SiieEol g1 STeATEshHT Sfard 9 S faeneatan wam et
HIETE e,

You are director of private educational institution that caters for the learners from KG to PG.
You are concerned about unfettered information flooding social media and about the effect
of such information can have those most impressionable. You will........

(1)

(2)

totally ban access to the net in all campuses of your institution.

request students to take a pledge to be careful while making decisions and taking actions
based on news.

design time table and request teachers to spend some time in class for conducting
discussions about the damages done due to fake news.

assist learners to get empowered to identify fake news by making news analysis a
mandatory part of curriculum.

HoAT HIHTETS ST/ SPACE FOR ROUGH WORK
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79. T fSee Wl fasmmren amifse e W@ RN, fodian TF e g 92 el 3
TEiel Aiears Y= STeasad B Ul Ui W= ‘[E-Hal’ HEmAN WeHrl Svadret
1 AT ST ST YhRoT HaRitaR [ AR, TRt 31 el a1 ufersl Saiienl Hee AR Tl

(1) ... T LA RS Teitaie fresavamaes! @i Teded §89rT o8l § &Y wided

(2) ... TORIRST TG THLE AR F AT Fgamdre HIUcaE Gewder @r=an a1 fa=n

B) ... SHUFE PRI HH FHOIAT STUEH T W= TEd A A W= Sigfoaeh aaede
e X0 Ay Tl € TF T Feri vegd =

(4) ... SRS GEAl, e F HelTenerd A1 LA fegidiel aehie, ekiter foe swsfoes
STYM FTAHHATT TN BT Tl 0 SRR ST &N A e FUIHIE! HigH
Hufed FHe.

You are the head of the “social cell” of district police department. You are approached by
the group of women and among them some are married and some are unmarried. They
claim that they are pressurized and in some cases threatened by their families to participate
ih ‘Guru-Seva’ programme of certain holy sadhu during last fortnight of next month, for
earning his blessings for the prosperity of the family. The members of this group don’t believe

- in this kind of devotion. You met this holy person on many occasions but never heard anything
wrong about him. You would........

(1) ...convince women, that it is their duty to participate in Guru-Seva for earning blessings
for the prosperity of their families.

2 . seek a written complaint from each woman and send appropriately worded notices

to the concerned families for forcing any member of the family to participate in such
programme against his or her will is illegal.

U ...... convince women that it would be better to tackle their own family problem with
the help of NGO working towards eradication of superstitions.

4) ... take the help of NGO, schools and colleges to organise campaign in the district to

make people aware of the fact that it is illegal to force persons to participate in such
programme against their will.

ol SHTATHTS! SIAT/SPACE FOR ROUGH WORK
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80. TRl TRUIcIoh = Seha] e faummd =gyl 4vit ShH=Rl WA SRR e, afsai=n STaret

TR Jrel TRUAIdkd M JEard wefl. 10 9 STAv el g%l g9 a9 %l gad

AR TR g favrTdie e qdaerenit qraren fiafo ge <] S &a:= T SQelvardiet

e fedt. o= SAfaaa yaeiqd grat aifosy radie geat snfor Jurst adiel gesger frem

qof Shel. 31Tl WIS faae feror Heda Seiiem & Savarand! greten westht stsaraash fivesrett

3T STIYT Rt 31T TS o7t el 3T, WRwifersh = FaTaR, she=raren fireo g& Savarare!

TF Fufet JaEE W e, Wy TR TgEiE o 37 AHeR S el TR S,

H greTen SR 3= Toreror el TR R ShTH hion SheuiR 2 ore U foemen. g waen foevamet

TR qEIa ASidte shioran " e ?

(1) = YSER AR Feiedn T Qs Wldiel ST SaUAT=AT 3T adTehidd 3d S
TrRT= IR JReTel FTearien! TReEd Saed™ Il ga e s digd o

(2) HHIR) WUH TRUNCTRI AATTAFRGT HIVME! Hkiaral Aeifvren o= gleen e i
dfayrfawdt 4l qreed STEee SHRU= STEav HEA STIHES! A1 e HIHN St

(3) TS ARRUETE §d e SO U3 hriheie Aed fafay Igdt 9 Aread arae Sfieie
Hefed U

(4) 3TSIToAT THRIER A& Higd FHEA 91 T R T VU1 Heifed e eehriaT, T
IANYHFITEE, Hal He Al a1 HeAaeld STEeh e,

You are working as a fourth grade worker in the solid waste management department of a
municipal corporation. You joined the corporation after you father’s untimely death. Though
failed in 10t class you are a voracious reader. Observing your interest in reading, chief
supervisor in the department encouraged you to continue education and change your fate.
With your personal efforts you have completed graduation in commerce and post-graduation
in social work. Now for continuing research in social science institute, you have received a
foreign fellowship abroad and have applied for a study leave. As per the rules of corporation,
employee gets two year salary protected leave for continuing education. But the head of the
corporation rejected your application and discouraged you by asking question, “Who will
do cleaning work if you get higher education ?” Which way would you choose for sorting
out this problem from the following list ?

(1) Discontinue your education as you are well acquainted with the attitude of many of
the so called higher cast persons those create trouble for persons from lower social
strata even if they are appointed on higher posts.

(2) Talk to this person patiently for reminding him about educational leave provisions
available to you as an employee of the corporation and about his disrespect towards
Constitution.

(3) Try to know facts about rejection of application and organize an agitation with the
help of activists using different approaches and media.

(4) Concentrate on the rejection of leave application and make aware all concerned higher
authorities including national authority that looks into these types of problems.

-00o0-
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ATl — (75 1 67 G8....)

8) yeTfawAsd fafed oo fafite Srfie =1 W (IF T%) FTE.  FIARAhaAdied SAdiaher o TR
FFRER Tl HH hed™d o HIAT FOITA M HS 3R, 3T TS TES § TTER SHEARER AEAN
SR Foedn ¢ qheiaed o IRTRRET giaey wvaeedy sTufae-82"" At TARITIR HRET Hvaw
Y5o 9 TN K IS Th TS HREErEA 31/ fhal T T TR WhEe sere e e dEe.

(9) WS YEUAFHAES AT fafed oo A3 HIegHTR SHSTR & TR Wd: ae) THThHEERT SEm
SOATE ST ST, WIS TSR aiTaet STuaryel SHea AUl STRuehell V-1 Hasiehiehs o
faaT o &Yl 3avaed TS

T R
Y. %h. 201, T 916 T HLOFHIS! HI0 HoAd: FI et ?
(1) T aHe g (2) svaER foemEmR
(3) TSN THHEREA T 4) TTeEw TEe
T IR AT I (3) TSN THEIET T o oM. e A1 Y S| Y(3)) e, ard
TIATYUTO T3 %. 201 FHe ST-0i% *(3)" & ofes oiv0 srEiferd e Jafas sevash

3Te

w20 (D QO @ @
3T S WA WeTgfeehdie Foish e qHET STehHis o T Wil o Sauiisale
I TETHARTANG Geifd ades U0l SEifhd e Jraael. Rl e il I
HHU arad, Af-ae ar g U aruE 9.
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THA AT ;I WA (T URHETT- 0% e feie : °3 JHET, 03
fawa: wvgRaeT ®. 2

HERTS: iehdal SIS (41 3 WIEN, 0% Toll STTAIoT 'Yed Qell () Tl Rief-303e”
AT QRIEE AT SHGARTT Hifediael STRTeA] YohaeaeR Wiaes Svard el gidl. @magHid
SUEARIAT  STTTHI (Authentic) TR T3 AT TR TG HoTed gehdl, Tud aaird ST
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AT - KEY
I W I SW
hHIh | 99 A | 9B | G C | 99D hHIh | 99 A | 998 | 94 C | 99D
1 1 1 4 1 26 2 3 3 3
2 1 1 1 2 27 3 2 3 2
3 4 1 1 4 28 3 3 3 3
4 2 2 1 1 29 2 3 2 3
5 1 4 2 1 30 3 2 2 2
6 2 2 3 3 31 1 2 2 1
7 4 4 1 1 32 3 3 3 2
8 4 3 4 4 33 3 1 2 3
9 3 4 4 4 34 2 2 1 2
10 1 1 2 2 35 2 3 3 3
11 3 3 2 3 36 2 2 2 3
12 3 2 3 4 37 1 1 1 1
13 2 4 4 2 38 2 2 2 2
14 4 3 3 3 39 2 2 2 2
15 4 4 4 4 40 3 3 3 2
16 3 4 4 3 a1 1 4 1 1
17 3 3 3 2 42 2 2 2 4
18 4 2 2 3 43 3 3 4 2
19 2 3 3 4 44 4 1 3 3
20 4 4 4 4 45 4 4 4 4
21 4 1 1 4 46 1 2 1 2
22 1 4 1 1 a7 1 3 1 4
23 4 4 3 3 48 2 1 3 3
24 3 3 4 1 49 4 4 2 1
25 1 1 4 4 50 3 1 4 1
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v I T I
W | §9A | 9B | €9C | W=D WHIR | §9A | @9B | €4C TID
51 3 1 3 4 66 1 3 1 3
52 3 1 2 1 67 1 1 1 3
53 3 2 2 4 68 4 4 3 2
54 1 1 3 1 69 4 1 1 1
55 1 2 3 3 70 2 # 3 4
56 1 4 4 3 71 4 1 1 2
57 2 1 4 1 72 1 1 # 3
58 4 4 4 1 73 4 3 1 4
59 1 3 1 1 74 3 4 4 1
60 3 3 1 1 75 1 1 3 1
61 1 3 4 4
62 3 3 1 1
63 3 4 1 3
64 # 1 1 3
65 1 3 3 #
# 7 IO TS T FROATT AT TR,
Decision Making & Problem Solving WWWW
(TR IFTHE 707 S¥TeTeT 3TR.)
TR 6. R
9a- A Ia- B I - C 9 -D
I T SHHT o 0T T SR o 0T T SHHTR o T[0T T SHHTR & T[0T
1 2 3 4 1 2 3 4 1] 2 3 4 1 2 3 4
76 [ 15] 1 0 (25| o |15 1 25| 0 1 1.5 | 2.5 1 | 15] 25 0
77 1 151 2.5 0 1 151 2.5 0 0 1.5 1 2.5 1.5 1 0 2.5
78 o 1 | 152515 1 0 25| 0 1 1.5 | 2.5 0| 15 1 2.5
79 0 1.5 1 2.5 0 1 1.51 25| 1.5 1 0 2.5 0 1 1.5 2.5
80 0 1 1.51 2.5 0 1 1.51 2.5 1 1.5 2.5 0 0 1 1.5 2.5
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